(COMPUTER BASED TEST) - 2022

PAPER - I - (&6 - I)
HOME SCIENCE - (oémeufliiev)
(Post Graduate Degree Standard)

(LPGISEMEL LILLULIGLIL SLD)

Arrange the following stages of processing of data in a correct sequence

Spsan_ecundle srey Qeuersssder wapaw sflurns auflasiu@sgsen

@
(i)
(i11)
(v)
(A)
(B)
(©)

5

(E)

Coding
GHELE peop
Editing
6Tlg.Ltq MBI
Tabulation

9| L_L_6LIE06uT

Classification

cuamsLLT(h

(1), (i), (i), ()
(iv), (1), (1), (ii1)
(iii), (iv), (1), (11)
(i1), (1), (v), (111)
Answer not known
e QgMweldeme
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2. Based on the stages at which editing should be done one can talk of
editing under two headings. They are

arigigl Qsiiw Geuarmqw Hlepcsaflan oigqlien_ule @meut Qram® seeoliyseien
81D eTig L ig i Liprdl CUFOMD. BIEEUSEET ———— LHYILD
(A) Fact editing and field editing
2 @raniog Smssd wHmb Yos HmSsLD
6 Field editing and central editing
Los SBSSHD wpoId @wwg Hmssid
(C) Field editing and scheduled editing
Leos S@ssd gt S bl iulL Hmssio
(D) Central .editing and resp(;nse editing
@LWLSHBSSD LHYID LY GLTE AnSs0D
(E) Answer not known
eflenL QgMwelweme
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Choose the correct option
gflumer ellpLinsans Csia| Qeliwian

Statement 1:  If one variable depends upon or is a consequence of
other variable, it is termed as dependent variable

gapm 1 D @ sam wHQDT saphbler elenateurs @QmE@LOMUier, =g &y
ga.m eramiLi(hib.

Statement 2:  Age is a good example of dependent variable

sapm 2 D euwg MY SahmIGE Slmbs T (HSSISESTLL MGLD.

(A) Both 1 and 2 are correct (B) Both 1 and 2 are incorrect
Qe sadmas@sb sflwurememes Qrer(h sahmiSEHLD SEUDTEIME

) 1is correct, 2 is incorrect (D) 1 is incorrect, 2 is correct

spm (1) e, peanmed (2) soumi sadml (1) soum, yame (2) &l

(E) Answer not known
en Qg Mlwaldrana
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4.  Which among the following is an Abbreviation of SPSS.
gflwrer aflen_enw QgMey Qawiweb.
SPSS (erav.9.6rav.6rav) eramuig)
A Statistical package for the Social Sciences

gops iflelwgisarar Lerafluliwe Qeme@Liy

(B) Statistical package for the Social Scientists
sops ol @pepraflssrern Letaflulwe QgmeLiy

(C) Statistical preparations for the Social Sciences
sops ifledlgusarer Lerafluliwe gwrfliy

(D) Statistical procedure for the Scientific Studies
2iflelwed @y iieysarar Yaraflufwed apenm

(E) Answer not known
eler QgMwelerane

5.  The study which accurately portray the characteristics of a particular
situation (or) groups (or) individual are called as
research.

s PITUES epwurergy, @® GAUA L Gohoolea (<) Guwsseler (i)
safipuflen uamysaner galwinns AssMseLDb.

(A) Experimental m)escriptive
ufCenganen <y uiey eflargaomen <y ey

(C) Theoretical (D) Exploratory
Camliun@® et <y uiey CaLcoam <y liey

(E) Answer not known
elen Qs flwelcrene
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Choose the right matches among types :

aumssE Qe Cuwrer sflwrer QuThSshsmer CaTHOSHESLD.

1. Simple Random Sampling

eraflws omgl

2. Quota sampling

2816850 TS

3. Convenience sampling

eusdlwiman gl

4.  Stratified sampling

D& gl
(A) 1lonly

1 0l @b
(C) 2 and 3 only

2 wHmib 3w Hib

(E) Answer not known
e g flwaidane

In which each and every unit of the
population has an equal
opportunities of being shared

B dle wéseT Qgmensullen geibleum(m
Sidln@Eb CarbhsHEaILHuUSDETE
FLOGUMILIL| ©_6TeTg)

Population is classified into number
of groups based on some criterion.

wrfl veumsLITEaT G (P&ESsaTTS
auesliuBSsLLhHDG.

Selected based on probability.
H&p566] g iLieL_ulle
Csb0sH&sLBEng

This sampling process is carried out
in several stages.

@Qns wrdf Qewdwen v BHaesafld
Cup@samareriiu &g

41 and 2 only

1 wHmb 2 wi_(Hibd
(D) 1 and 4 only
1 wHmid 4 L HL
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[Turn over



7.  Arrange the following in correct sequential order

Weneumeuameupanm sflwmer euflenguliay euflansiLBsseyb.

(1) Understanding the nature of problem

2T Ger Arésamanuier senanwanwils Lflbg Qamer@rge
(1) Surveying the available literature

< rmiEsllen Wnssamanssstar @asdunsmer e Qelisen
(111)) Rephrasing the research problem

< TMLES Hssame wnuflfomen Qeiga

(iv) Developing the ideas

GuirgenansanaT 2_(heuTé@g e

(v) Statement of the problem
Ypsemanuilen oléams o (Heuné@sen

A) @, (), @), (i), (v) B) @), @iv), (1), (i), (v)

%Cr V), (@), (i), (i), (iii) D) (v), (), (1), (1), (iii)
(E) Answer not known
eflen Qs flwefeane

8.  Which sampling design best suits to study the efficiency of nationalised
banks in India?

Qipdureiler CsAuwnssiiu L autidsellan Qswed Hpmar e Asiiu abs LsH

& CmRHUY wern QuIBSsLoTeag)?

(A) Cluster sampling ‘m/lultistage sampling
glyet LF&GHR D [HSSH0 Lablenay Lis&eCn(H&Se

(C) Stratified sampling (D) Systematic sampling
S HEGNUILSEFQADHSS5D PODWTE USEHCD[H S0

(E) Answer not known
aflen Qgflweldrena
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A survey which is helpful to try out research design on a small scale
before going to the field is referred as

sagdnEs Qewausn@ @par ANw ereler YrmiFsl eugeuemwlienu WPUDHHES
2 gawing G)(HEGLD (M Samails(H LI erere?
(A) non probability sampling
gwaumiiiunmn USEECDHSS0
) pilot study
perGanmiy. |aT&EMS
(C) probability sampling
Hapsse LgsemdnHEsD
(D) simple random sampling
ereflepowimen sweaumlliLg LUS&EsED([HSS0
(E) Answer not known
efen Qs flwefdana
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10. Arrange the following techniques of developing measurement tools in
chronological order

sracuflensliulg Siearell (h smelamar o (HeaursELb WemeuHd HIL LSS GO e b.

1. Selection of indicators
Gt g seflen Csitey

2.  Concept development
&(HSG| 2 (HEUMSHSLD

3. Formation of index

&L ([H 2 (HeuTEsD
4, Specification of concept dimension
&m&g uflrawgdlen efeurs@Oiiy
~Q){ 2413 (B) 1243
(C) 3142 D) 4321

(E) Answer not known
en Asflweawame

11. The process of assigning numerals or other symbols to answers so that

responses can be put into limited number of categories or classes is
called

uglosERsE TR dag GUn GHuliGsmer @gEEDL Qewdampaw Gsarmd
auerupsLLLL  uflasmer;  aarafléams sl  Sioeg KGR

uGSSLILGEeTngI. Q) Fmen ————— erenm) SDLDESHEMLD.
Coding (B) Editing
Camig s 6Tig L g M

(C) Graphical representation (D) Tabulation
auenrsaa g ElHsgieun SIL_L_GIEnEHT

(E) Answer not known
elen_ Qg flweleene
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12.

13.

14.

The method which uses technique of gathering data by asking questions
to people who are thought to have the desired information is

GAUACL putsaiLBHg Csarellsedr apod  gsseuwsamear Gssfle@w  wpon

—— Grarlu
t{ Survey (B) Experiment
SaT Y16 uflCargenar
(C) Case study (D) Diagnostic
€1 YRETNY Crmi sarr_Hse ey

(E) Answer not known
e Qs flwefdena

The cross sectional study design are also known as

GNIEE Qeul_(H g ieler wmyiGluuws eremen?

M one shot studies (B) post-test studies
R HOM 416 Cengenand @ Abens i 16|
(C) pre-test studies (D) problem studies
Canganans @ (Wphangw <516 S50 FTMHS U160
(E) Answer not known
e Qg Mweiidena
The process of assembling primary data is called of statistics.
wpaarang sromas Csaflla@h Gsudupeap Ldraf Reugrugefles ———— erem
SDWSEILHSDE.
(A) Analysing (B) Weighing
U@GLUmMey eranL Gur(hgev
Collection (D) Compiling
Caaflliy ,_ QsnE@sse0

(E) Answer not known
e Qgflwaidena
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15.

16.

The advantages of a longitudinal study is that it does not depend on

ia?na)m Gup@smererL(Bb @y lieller BeTanoulreng) QSman FMMbSE! e

Time Schedule (B) Observer

Cmr = L_euenerr LITTEnGUUITETIT
(C) Memories (D) Sample

Hlenaneyser WEL-YN)

(E) Answer not known
ellen Qs flwelerene

Choose the main characteristic of Ex Post Facto Research Method
Ex Post Facto «gmiisfl ppepulen apsdlu uamenar Csitay Qaiiwia] b,
(A) finishing a solution for an immediate problem facing in a society
R FepsLd adlibaner@nb o Lang 1ArFsmand@ Sie| SaTUs
‘6 researcher has no control over the variables
onflser Bg1 L rmusSunanmée sL@run@ Qdama
(C) gathering knowledge for knowledge’s sake
Sifleves CubLBSS ss6ue CesMsse
(D) to discover the underlying motives of Human behaviour
wesilg pLgamsulen g liLmL Crrésnsmars sRTLHoug)

(E) Answer not known
eflen QgMwaeleoeme
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17.

18.

The main aim of an applied research is

vwerur’ () g rmiigluller apsdlu Crrésnd

( To find an ideal solution for an immediate problem

(B)

©

D)

(E)

2 Lang résanans @ Hmbs Sieneus sHramisen

To explore the quality of the research conducted
BLESUUL L 2 rmi&ullen Sr5ems < Tmse

To gain experience in the field of investigation
Yavarmiie] gienmuiled signiticud Qumged

To prove or disprove the hypothesis

&g Canener Flen 968 swwg Armaflés Qaiiged

Answer not known
elen Qs flweldena

The type of research carried out over a long period of time is referred to

as

BarL srasHne Coh@smeretiiLiib g mymuﬁéeﬂ panmuiler Quiwi erenran?

(A) field setting research longitudinal research
&6 YTTLUFS (Lpenm Bemomen <y 16|

(C) diagnostic research (D) historical research
Crmudlse o, rmigs QUTQTDHM DpTTUIEFE)

(E) Answer not known

elen Qs flwelerana
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19. The type of research which is related to some abstract ideas or theory is
referred as

SHEHLOTET HHSFGH Advag Carurhseamer alaTéGaugsHEGL LwaLhHSsULGHLD

SIMLEH ————— uansamW FTTHSS).

(K Conceptual research (B) One-time research
H(H5SI QUlq.0 piey R PdD e

(C) Descriptive research (D) Fundamental research
clleT&Eman ,u16 SligLILIenL 16

(E) Answer not known
ellenL Qs fwelldene
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20. Match the stains and the agent used to remove them.

senysafian QU sigamar B&@E FOnahaErL6m GunhssIs.

(a)

(b)

(©)

(d)

<«

(B)
(©
D)
(E)

Stains

Nail varnish
BELUILLES
Orange juice
<=4 T6H& D6
Paint
Quulesr_

Perfume

cunganan Sredlwid

@ b @© @

3 4 1 2
3 2 1 4
4 1 2 3
3 2 4 1

Answer not known
an Qg flweldwena

15

Agent

Methylated spirit,
turpentine
QugHCal L evdfl,
LrlueirenL_e
Methylated spirit, acetic
acid

QusHGar Lt dvdfL,
S 14E YEL
Acetone, sodium
hydrosulphate
G, Gamig witd
amant_Crr gaoCGul
Glycerine, Hydrogen-
peroxide

Seflgflen, evani_Faer
Qupréenen

Home Science
[Turn over



21. Assertion [A]:  Water repellent fabric is one that will resist absorption
and penetration of water for a given period of time

sapm [A] : B ellevd@ ganflsar samantt 2 MEhasa LHMID oaBmeusH &
QramerL b GO CHib euany T T&@D SemenLow|enLwig.

Reason [R]: Water repellency dependency is based upon length of
exposure and force of water.

smgentd [R] glemflsafien Brclled@ saemwwurag geafsa Bld @Qmesw
Crrémgenw samartien GCoussamsud FTTHS @) (HEELD

(A) [A]is true [R] is false

[A] 2 aenw, [R] seum
4 [A] and [R] are true and [R] is the correct explanation of [A]

[A] wpmid [R] @rear®ib o amanwo, [R] @ispsmer sfwner sfearssiongb

(C) [A]is false and [R] is true
[A] seum, [R] e amanio

(D) [A] and [R] are true and [R] is not the correct explanation of [A]
[A] oo [R] @rain® b 2 awanw, [R] Sispéstan sfwuner eletssio Han_wing

(E) Answer not known
elen Qs flwelerane

Home Science 16



22. Choose the right matches among the following :
Yereumeuameunler sflwirar QuTpsshsmer CaTHOASHESLD

(1) Plain weave - Tabby

eraflus Qpasey - G
(1) Twill weave — Diagonal lines

(helleb QBaay - epeaeill L Camhaer
(i11) Satin - Floats formed by weft

&TL_Iq 607 - QB&e BIOSETTE 2 (HeUM@GLD LGEeUSET
(iv) Sateen - Floats formed by warp

&6t - sl eumiy prevaemmad 2 (Heun@L Wigemaeusar
(A) Only (i) &oth () and (i)

(11) w_Hwb gf (1), (1) sAwrerena
(C) Both (ii1) and (iv) (D) Only ()

(111) wpmbd (1v) @rar@Hn (1) wl_ (b sM
(E) Answer not known

ellenL QgMlwelerena

17 Home Science
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23.  Which of the following is incorrectly paired?

SpaumeuaneunmieT seupnas Gy Cansaliuil Lae erepeu?

@)
(11)
(iii)

(iv)

(B)
(©)
D)

(E)

Weave type Appearance

Qmsey cuangger Gsromid

Triaxia —  Canelike patterns
g e rrEEwm - &by Cumery
Dobby —  Textured surface
LmA - syanorer Goouipliy
Pile —  Smooth

amLed . - Querenwuimes

Satin —  3-dimensional

&g 6T - pludwrer

(1i1) and (iv) are incorrectly paired
(111) wpmd (1v) seuprer Gegmig.

(1) and (i1) are incorrectly paired
(1) wpmb (i1) seuprer Gagmig.

(11) and (iii) are incorrectly paired
(1) whmyo (1i1) seuprer Gegmig

(iv) and (i) are incorrectly paired
(1v) wpmib (1) geuprer Geamy.

Answer not known

alenL Qgfwelerena

Home Science 18



24.

For which type of finishing the following statements are suitable
T eUSWITET Hlanma s ehéd@ Lemelmbd sahm QuTHHEID
1. Done at various stage of finishing

veGan Haasaild Hlapasd Qelwudiu@deams

2.  The chains are equipped with clips / pins which grip the selvage of
the fabric

Hafliyser/ Qeansaflar ppob sgrdasaiier QummssLLLH QMHESang, e
glafgafien efaflbeanu Qs gwins g &5 (&8 2 seydlamg

3.  Tiny holes or marks of the clips are seen on the selvage
gianfl efleflbi@er APl Qe HMID S&&H6T STaTUILHE DS
4. Tt enhances the i)osition of the wa-rp and weft yarné

Qg1 LTay LHYLD 2arerL_ait CuobUBHSSSTDS)

(A) Crapping (B) Fulling
G TemTeLDMETaOMEH sbuefg &Tenio
\( Tentering (D) Weighting
Crrré@se T &L (hFe

(E) Answer not known
efenrL Qs flweiidvana

19 Home Science
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25.

Choose the right matches among :

sflurer Qurpsstismer Caia Qeliwa|b

1.

(A)

(©)

(E)

Surface of a fabric
Cupuriy o (Heulb
Gauze

EMaL

Dotted Swiss

yerafludl diu L seflev

Square pattern with woven

&8ITHI& aulgeller Qrsey

2 and 3 are correct

2 vpmb 3 sAwurearena

2 and 4 are correct
2 vpmib 4 sNwnerena

Answer not known
aflenL Qg flweldene

Home Science

20

— Lappet weave
ColQuLl Qpga

—  Spot weave
Yarefl Qpeey

— Jacquard weave
sorsmil QBsey

— Basket weave
gaen_ QpFay

(B) 1 and 3 are correct
1 wpmid 3 sflwrereney

'{) 1 and 4 are correct

1 womd 4 sflwrareneu



26.  Which of the following is incorrectly paired?
argl seumns Geamg Carsaslinl_(Hererg

Weave Fabrics
Apsey apanp gienflser
(1) Pile - Voile
L@ Geumwed
(i1) Plain - Towel
Lienarreyt LGU6)
(111)) Jacquard - Brocade
. OT&G6eUT(h . LGrrGaL .
(iv) Swivel - Dotted swiss
aveiele Ll aveilav
K (1) and (i) (B) (i) and (iii)
(i) wppid (i) (i) wppud (i)
(C) (i) and @(iv) (D) (iv) and (i)
(iii) wppid (iv) (iv) wigis ()

(E) Answer not known
eflen Qg flweiidene

21 Home Science
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27. Match the finish and its function

QumSHS :
(a) Weighting

cranL_udl(Hgev

(b) Calendering

HTevaRTL_M B

(¢) Kandarized

saeTL_enFeu(h

(d) Trubenizing

(B(mLenaTerdts
@ ® (o
A) 4 2 1
B) 1 2 3
wef 3 4 1
(D) 3 4 2

(d)

3
4
2
1

(E) Answer not known

allenL QgRwelerenay

Home Science
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Imparts permanent
crispness and abrasion
resistance

flobgsr  Wmgleuner  geeno
wom  Agrdidenu  erdlilienu
aupEIGEDg

Is a patented process that
prevents wilting in collars
and cuffs

sl Meno T Qup
QawdpenWIME@GD ST WHMID
N F1L0 2001 )

Increases  weight and
handle of the fabric
Flamfludleir GTemL LOHMILD
&l aw SfHshsseyb
Ironing process that adds
luster

Yrsnssens GsiaGhd sHoameu
Qewdpem



28.

Relate the fibre and its luster
Qaruryu® &g Osn(he-amrie]

(@)

(b)

(©

(d)

Natural cotton
Qupes LmHSS
Mercerized cotton
Quitserev(h Li(HSSH
Natural silk
Quneng L (h
Cellulose

Qeog)Geomev

a) (b (@© (@

(
64 3 2
(B)

©)
D)
(E)

1
1 3 2 4
2 4 1 3
3 2 1 4

Answer not known
en Az flwaidene

23

. Medium to very high

Wgrendled (mbg SHlaitig
High

SiHsliLg

Medium to high
B8 B Siflswo

Low to medium
G@paunedlalBg Squbd

Home Science
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29. Match the fabric defects and their causes/defects :
glanfluidlen GenmaamaTuyd BiGen STTETSMSWLD QUITHSSIS :

(a)

(b)

(©

(d)

(A)
(B)
(©)

(E)

Defects
G0
Slub

o fludenip

Slack

e

Tight slevage

el fefaflboy

Barrel mark

&9 &8
(@ ()
1 2
4 2
1 3
3 4

©

3
3
4
1

(d)

N DN = A

Answer not known

eflen QgMlweNerene

Home Science
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Causes

STTERTLD

Indicated by puckered or
wavy edges

SHEGSD  WLOHMID  meGLITETDH
QRUBISET (PO SiBlwILIID
Gives the effects of stripes
auflGamg._L ellenerasenar s(mHLd
Uneven spinning caused by
waste caught during
spinning

miplenr  Gung swafrnm Hleva
FHUOSE

Insufficient tension 1in

weaving
Qpigellenr  Gumg Gurgiomen
Sjarey @(peileng @éemanLo



30.

31.

32.

Select a weave, where patterns are unique and each warp is individually
controlled with each pick passage
ahg Qpsey pepuiier, 2 e ser gealeuramb gafigsallunsg sl EUUBSSLILLEH,
safll$gleub eumipBs eulg.eueoliL|Eener Cl&TarTl (HéELD
(A) Lappet (B) Swivel
LGauamen &L APEOM
% Jacquard (D) Dobby
&I6TE) Lmdl
(E) Answer not known
MenL Agflweldana
How many sets of warp and weft are used in Double cloth weave?
@7 g gl Opsele ardgaman Qe cumils wHmyb Qat.Ul LwuaTUBSsLLBS DS ?
Two warp and two weft (B) One warp and two weft
2 qumirs Hmid 2 Gleuseta 1 eunis Hmb 2 Gleuses
(C) Two warp and one weft (D) Four warp and four weft
2 eumirl) opmith 1 Qeuselic 4 qurrirts M 4 Qeusii
(E) Answer not known
en Qg Mweiidana
The first coal-tar dye was called as

WPs® Hassfl-grt smugeng ————— ereimid S(eLpUiL

(A) Katdye ) Basic dye
QUL &MWILD STI& FTWULD

(C) Anionic dye (D) Acid dye
Siemwmeild <6 FTwib

(E) Answer not known
een Qg flwaeidrane

25 Home Science
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33. Disperse dyes are used for which type of fabric
b elgLomer giantlaemae Henig s &nm\r?ehu@(&,g,ﬂu@ﬁmg)m?

(A) Cotton ) Polyester
WG] uredlwievLr
(C) Silk (D) Wool
ul @ sLuafl

(E) Answer not known
alenL Qzflweldene

Home Science 26



34.

Choose the Right Matches
sflwrer Qupsssams Csirey Qauiweyd

1.

(A)

(©)

(E)

Nutrients given to foetus
at the expense of mother
TG eLPALDTE &(HEYE S
GuUPRBISLILI(HILD 261 L §555)
Nutrients stored in fetus
ameiled Gailgslin(Hib

oan’ |_§855|556T

Nutrients for which mother
Has priority over fetus
smeneuailL smiis@ apengfento
Siafl&@LD 2ar’ L s5g1556T
Nutrients for which mother
and foetus compete

ST &(Heb Cum_ig ull(Hid

oar’ | §85516&6T

1 and 2 are correct

1 wpmb 2 sflwnaraney

3 and 4 are correct

3 wHmid 4 sfwnareae

Answer not known
e Qgflweiidana

27

— Vitamin E+ O
— el Lba E+ O

— Vitamin A + Iron

- @alLfer A+ @by
— Vitamin A + Iodine
—  aneul_18ler A + Cuimgern

— Vitamin K and Vitamin C

- el Liflen K wopmid eveut L iflenr C

?ﬁ and 3 are correct

2 wpmyib 3 sRlwraTaa

(D) 1 and 4 are correct
1 wombd 4 sflurarensl

Home Science
[Turn over



35. This type of dyeing refers to winding the warp yarns on a beam and
placing the beams in a dye vessel
aThg euams smULl(Hedleh Uil BrO&MmeT @ sHDWTES WPMEH e srw LTSHrsde

MeUSSLILI(HILD?

(A) Skein dyeing \ﬁeam
ev&err FmuLll(HFed i
(C) Fibre (D) Piece
Hraflenip glam(
(E) Answer not known
eflenL Qgflweferenay

36. The dye referred as ice dye is

SpaumeuareudPled erang @Geflité smud eTemui?

Naphthol (B) Disperse
BTe o 1&S 60 FTUID elyey gmwiLd

(C) Acid (D) Basic
SiBwF FmuiLbd Sl LILIGHL_F FTWILD

(E) Answer not known
cllen Qs flwelerena

37. Fibres that are measured in terms of

Gewsamer Sarell_LILHD pam

(A) short fibre ) staple fibre
Al Qenp Sy @enw

(C) long fibre (D) filament fibre
e @Qenip Qs it @enip

(E) Answer not known
alen Qsflweferena

Home Science 28



38.

39.

Identify the dye that is applied in a hot alkaline solution which converts
into a reducing agent to change the dye into a colourless soluble form
which taken by the fabric, then on exposture to air, colour is obtained

Epeumeuareupibled eThg FTULDTEIS GLTan &TTé Samrsaild LWaLIGSSLGHEDS LHYID
gatlser o Mepeuu@b  Gurg  HowHn SEILESEIGL  eUGEILTSAD.  STHBlD
Qeuefluu L gib Flpd Qareamh Sarw (PiguiTs eulgeISmsd: QSTETERHD FTWLILD CTETUMS

Qs flou@sseib

(A) Sulphur dyes mat dyes
Qo oLIIT FMULD T &mWILD

(C) Direct dyes (D) Reactive dyes
Goiyig #Twd ardlreflanes gmuid

(E) Answer not known
elen Qg flwefldene

Identify the correct sequence of colours used in tie and dye printing
Wy &EIL B smuGwnidl FHHSD WPansE o sflwrer Hineufensmu sarrHla
Yellow-Red-Blue-Black
L @p&aT-flouliy-Beb-s(mLiy
(B) Red-Yellow-Blue-Black
Seuliy-wEpger- Beold-smLiLy
(C) Black-Blue-Red-Yellow
&mUY-Beob-feuliy-o@haar
(D) Yellow-Blue-Red-Black
W @heeT-Beotd-euli-amLiLy

(E) Answer not known
cllen Qs Mwaeldena
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40.

41.

Which one of the following statement is true about the direct dyes?

Crrgé enumsama s ubHbl Nereu(HLd sapmsatich erg) o @rento

(A)

Direct dyes are water insoluble
Corg gmukiser Bl sepmurgamea

1{ Direct dyes have affinity for cellulotic fibres

(®)

(D)

(E)

Gy smukiseT QewaGag.s Qs EnLer QgL iy Clsrear(heTerer
Direct dyes from covalent bond with the fibre

Corig sTLkIGET pridesgLen Careumar . lenarianLl o (HeuTs@GSlenmen
Direct dyes are known for their exceptional brightness

Corg smwubiser Heupilen eldHelwsster 9garssHnans sidluliuibhSearmen

Answer not known
elenL Az flwelcrene

The type of printing method is applied in the creation of exquisite
Kalamkari Fabrics

seuedgoner  HFEHL  wop CoisHdurear sobarfl geaflow o (Haurs@gaudad

vwetLhssLLGSH DS
(A) Roller (B) Stencil
2 (HEnGT avQL_enéldd
(C) Screen “(Bﬁ%lock
ety Germs

(E)

Answer not known
eflen Qg flweldene
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42. Which one of the following is a mud-resist hand block printing style in

Rajasthan?
2EsHs L Qaran(h essaiamd oFfHn Qums Csy adiliy seaenw Qamer
@ rrevgraflin &s (pevm 618 ?
(A) Tiedye zﬁabu
WPFAL(H sl (Hged Sy
(C) Ikat (D) Batik
@&asm LUSSHE

(E) Answer not known
eflen Gsflweidena

43. The traditional form of learning that people experience from childhood is

GLBmS LimeusHel(mbgl asaT san_9igd@Eb urpouflu SO wpenm 6Tg)?

(A) Role play (B) Drama/singing
LBIGHIL&LD (r_r,m_a;d)/um_ei)asc'rr eLpeILd
‘(K Story telling (D) Problem solving
&g QFTOIHO Wrésamansaner STULISET eLpauLDd

(E) Answer not known
elenL Qgflwelerenaw
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44. The method which is considered the gold standard of dietary assessment
in olden days is

uenpw B safld 2 amey WHIS 146 ShES STOTES SHSILLL G SheumHd wperpulled

o

(B)
©
D)

(E)

A GLD
Food records
2 awrey LFLILjsEr
Dietary recalls
2 anre|(penn Hlenarapl L e
Food frequency questionnaires

THSH&ESTETEHLD 2 mra|(panm asrra)q.pmg)a;m updlw Caerellasar
The dietary hlstory method

2_GMTE| GUIATH)

Answer not known
eflenL Qg Mwefdana

45. The amlhropometric measurement used in addition to body weight to
detect malnutrition in young children is

An Guhmssefle ca’ L 558 GmDUT LS 5anm_rj)]u_1 2 L6 eranL Lt Fa(HFemsL

LwetL(BSSLILGHLD SieTei(h 6rg)?

(A) chest circumference (B) arm circumference
O &DHDETEY & &OHMETE
head circumference (D) hip circumference
B &MHMaTa| GeL sHperay

(E) Answer not known

allen Qg flweldvena
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46. Normal value of serum folate for an adult

saraiiflen «.CUTGeaL e LI erg

(A) <b5ng/dl (B) > 15 ng/dl
v > 6ngid (D) <160 ng/dl
(E) Answer not known

aflen Qg Mwaidena

47. Which of the following could be an aid to drama?
ymmmg’)g‘ﬂ@ g BTL_&55 DS 2 F6lwns @)(HS@EDL?
p

uppets : (B) flash cards
QumbweT L RigeT &HM 2 g6l e
(C) lectures (D) true charts
cAfleyevraer 2 GHTEILOWITET 6UEN [FLIL_BISET

(E) Answer not known
elen Az flweidane
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48. Choose the right option

sflwmen dlsamaamnut eT(pg)s

The chief aim of FAO are

FAO @ar sl Crréshisar

Statement 1 : To improve nutrition of all people

Siflsens 1 : IMATSF| LD&SEB&HGLD 261’ L_F85mG CoLUHSSISO
Statement 2 : To increase the efficiency of farming
SiMGens 2 eleugruigdlen Qewdpamar siHsflssa

N( _Both statements are true

(B)

©

D)

(E)

Qe SMEMEEEHD 2 arrenLo

Both statements are false

Quan® SiHEMEEEHLD SeupTeTanal
Statement 1 is true, 2 is false
2iflsens 1 2 amrento wHMID 2 euprang
Statement 1 is false, 2 is true
Siflsens 1 geum <Lemmed 2 o @reno

Answer not known
ellen Qs flwelerane
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49.

Choose the correct option

sflwnen auraflugans Csite] Qeliua|b

Statement 1

aumgSlwuwm I :

Statement II :

eurgHwin 11 :

The meal supplied by school lunch programme should
be a substitute for home diet

uerefl LHW o ey S L FHan epaid cuphslILGD 2 ey 650
©_aTe& @ LIHOTS @)(HES Ceuam(Hid

The meal supplied by school lunch programme should

supply atleast one third of the total energy
requirement.

uetefl wHW 2 ameys HlLsHlear eped eupRSILHL 2 6mTe
Qrés <Hne Cameuudan GmDHES APETHlad @ URIMSUTEIS)

auLpmiis Geuar(Hid

(A) Both statements I and II are true

aungdwd I opmb eurgfwiid 1T #f

(B) Both statements I and II are false
aurg@wid [T wpmid euréfwibd 1T seumy

(C) Statement I is true, II is false

aursdlwb I &f, cunsdlwibd I seupmy

Y{) Statement I is false, and II 1s true
aumsdwd I seumy oo eurdHwin IT &M

(E) Answer not known
MenL Qzflweldan
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50. Food balance sheets for different countries are published by

vaCean BrHsEREsTaT 2 ame| QLY Howsstar Ulgud TS  epaLd
Qeuaflll L@ dmg ?

(A) WHO

2 & GHMGTT SIEDLOLIL

%( FAO

o_ama| HMILD eNeusFTw SenoLiLy

(C) CARE
&.a.9m.Q)
(D) CFTRI

wSHW 2 emrey Qg;nlzﬁ]d) HIL U écwrruhété;] Hneuard
(E) Answer not known
elenL. Qgflwelerene
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51.

Obesity is
2 LG LI(THLOGH GTEITLIG)
1. BMI > 25
o L& Qumpamento eramr > 25
2.  Synoid and android
Senmi® wHHID peT_gmi(h
3. Causes PCOS

PCOS flaaneu piisl qa6r Qgm_iijenL wig)

4.  Societal disgrace

SpsLD 2 L aTLiL_efleane

{ 1, 2 and 4 are correct

1, 2 womd 4 &fl
(C) 1 and 2 are correct
1 whmbd 2 &l

(E) Answer not known
er Qg Mweidene

37

(B) 1, 2 and 3 are correct
1, 2 wpmbd 3 &l

(D) 1 and 3 are correct
1 wpmyb 3 &
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52. Match the following
QuUmBSES :

(a)

(b)
©
(d
(A)

(B)
(©)

o 4

(E)

Vitamin D

emaul_Lles D

Dietary fibre
2 6| BTES5S)
Vitamin E
aeul_Lifler E
Vitamin A

emeul_L18lem A

@@ ®) @© @

2 3 4 1
3 4 2 1
1 2 3 4

1 3 2

Answer not known
aflen QgMlweferena

Home Science
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Reduced incidence  of
coronary heart disease

sGrmenfl @swi GCrmullen Hlapay
GODESILILL G|

Retinol

Qrligarmed

Tocopherol

CLrGamuGrme

Calciférol

-3 70 INKATHT) 11 1)



53. In protein energy malnutrition
L&D HNID O ETTHS 2 L5551 Genumhsaefla
1.  No fatty liver is seen in marasmus
ogravwadey Qampliy Lighs soeayed UTSHiy Qmbsslome
2. Fatty liver is seen in Kwashiorker

GauTafCuiniat QampliL Lighs &oedTe LTSl sTarLgiedr(H

) 1and 2 are true (B) 1 and 2 are false
leug) wHMID 26ug) &l leug) LHMID 2618 Seum)
(C) 1listrue 2is false (D) 2is true 1 is false
leug &, 26ug) s6um - 2eugy &, lougy seum

(E) Answer not known
e Qsflweldena
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54. Match the clinical signs with deficiency

GODUTL(HL e wmSge bl @Gdlaamers Qummss

()

(b)

©)

(d)

(A)
(B)

(D)
(E)

Spooning Nail 1. Protein
_ eV el BamIGeET LIsLd
Early graying of hair 2. Iron
Kamd pavy QIR
Ascites of abdomen 3. Vitamin D
Sligeuudlhiler Dy evemstev eeul_Lifler D
Thoracic Roasary 4. Vitamin Big
Qgryrdlé Grmef . aneul_8ler Bio
@ G @© @
1 3 4 2
2 1 3 4
“ 2 4 1 3
3 1 2 4
Answer not known
eflenL Qg Mwaferenew

55. Among whom prevalence of Anaemia is higher?

Qs Csnans LT wint wsHuled SiFsons o ererg?

'ﬂr Pre school children (B) Pregnant women
perueTatl GLobagser &rlnlenfl Quesrser
(C) Non-pregnant women (D) Men
sirinlenll w@erg Quamser <, BTEHET

(E)

Answer not known
afNen Asflweldene
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56. Retinol is also called as

@g QrlipCanméd erenmid enpdsliL(hEng|

Vitamin A (B) Vitamin E

o Wisssg A o Witsssg K
(C) Vitamin D (D) Vitamin B

o Wigegg D o Wrsesg B

(E) Answer not known
e Gsflweldene
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57. Mention the statements which are true about national Vit-A prophylaxis
programme

Ggélu eeulLfanr-gg Grpmi ghuy S sast uddl Geareumnd spmseie g

D_GITENLO

(1) The eligible age group for administration of Vit-A supplement is
children between 9 months-5 years

el e A smBsd CLmev euphi@euspstar seHumear suwgidfedent
9 wrghisET 1pse - b uwig auey

(i) Promoting consumption of Vit A rich food
e Lfler A flevpbs 2 amreysemar o U Qsmetouang oaréEedssm

(i) Supplemental dose of Vit A is to be administered is every three
months

walLflar A sm@Bgd GCLmev @aQanm 3 LIFRSERSEE QDD

Qar®HssiuL_GeuaTHib

(A) (1) only (1) and (ii) only

(1) @i (1) wHmbd (1) w Gb
(C) () and (iii) only (D) (ii) and (iii) only

(1) wHmib (11i) wL b (11) wHmyw (1il) v Hid

(E) Answer not known
eflen QgRNwelerene
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58.

59.

60.

FSSAI stands for

‘FSSAT Wen efeungsid GHLAGHs

(A) Food Standards, Safety Authority of India
2_amrey STHlM&EET, QIBSHI LIMFISTLIL] eneRTuLD
Food Safety and Standards Authority of India
QB 2 ey LTGSTUL LHMID STHEE ,EERTUID

(C) Food Standards, Safety Administration of India
2 awre Hrhlene, @nwmeller LmgsmiL| Hlieumsd

(D) Food safety and Standard Administration of India
2 awe| LIMgaTliL| Hmib QbSw s7 HlTeurs

(E) Answer not known
alenL Qg flweldana

The ideal temperature for manual dish rinsing is
@HWITD LTSS Thisamens &(Pejeugn@ 2565 CeuliLiblene 6rg)?

(A) 25°C ) 40°C
(C) 77°C (D) 52°C

(E) Answer not known
elent GsMlwelcreney

Saffron is commonly adulterated with the following ‘EXCEPT’

SpeumeuameudMled Tang (@& mi@OLILeH O SLILL LIS LweTUHSSUILILTE?

(A) coloured coconut shreds dried maize fibers
cuamanTLilL_L CHBIST &i(HeU&aT 2 Qb Camer BITHET

(C) coloured maize fibers (D) scented maize fibers
cuetant Gamem Q)enLp&eT curgd Qundlgs Camer QanLpser

(E) Answer not known
sllenL Qgflwaleena
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61. Assertion [A] : HACCP is a preventive approach.

spp [A] : HACCP @ s6UY <ign@epan.

Reason [R] : Quality assurance is not a tool to control quality during
processing, can be used to design quality into new
products.

styewrd [R] : sy eogsrensd wHmn Qeswensssgder  Curg  Frsms

sLOUUBSHD &Ml o, ydfu swurfiuyseid srsoms

6UIq QUEMLDES LILIETLI(HSSHEOMLD.

(A) [A]is true but [R] is false

[A] &fl gpamed [R] seum
(B) [A] is false but [R] is true

[A] seumy spammed [R] &
‘Q{ [A] and [R] both are true

[A] wipgi> [R] @rein@o s
(D) [A] and [R] are false

[A] wpmid [R] @rain@®io seum
(E) Answer not known

eflen Qs flwelerena
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62. Match the following marks of standardization with the products :
swriliys@EsLen sriuBssalern ereaumnd Glamer QUTHSSOLD :

(a) FPO 1. Meat products
FPO Qennsd QummLser
(b) MMPO 2. 0il, ghee | pulses
MMPO araimQenis, Opus 4 LB
(¢ MPO 3. Fruit squashes
MPO LI GV(@GEUTEG&ET
(d) AGMARK 4. Milk products
DBLOMTE . umé GQummL e

@ G @© @

) 3 4 1 2
® 1 2 4 3
© 3 1 4 2
M 2 1 3 4

(E) Answer not known
senL Qgflwefdenaw

63. The optimum temperature for psychrophilic bacteria 1s

a#&Crmials ursl Aureyses e abs sLueudiu Hlane

(A) 12to018°C (B) 17 to 24°C
¥ 15 to 20°C (D) 20 to 30°C
(E) Answer not known
elenL Qgflwalerena
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64. Ultra High Temperature (UHT) pasteurization of milk is done at the
temperature and duration of

&olly 2wt Qeutiugdlanmmed asdHsfssiiul L urd gurfssaéEsE LLELOSSS Gl
Qeutiublency LHMID ST HEUSTED E) IS M6

(A) 135.8°C and 3 seconds '({137.8°C and 2 seconds
135.8°Qs. whmd 3 Qpmgsar 137.8°Qe. wpmid 2 Qpmgser

(C) 139.8°C and 1 seconds (D) 139.8°C and 3 seconds
139.8°Qs. wpmid 1 Qprigsar 139.8°Q¢. wpmid 3 QAbmg.ser

(E) Answer not known
eflen Qg MweNwene

65. Mark the pair that is not correctly matched :
Wemeumeuameupiley ergy sl Qunmbseldee :

(1) Perservative — Inorganic
ugLQummar saflowhng|
(11)  Aseptic handling — Emulsion
210 FIq.6 MSWIMEHESED Gy
(1) Restrict oxygen — Vaccum pack
<Y somand _HLLB SIS0 Qaupdli Quird)
(iv) Decontamination — Packaging materials
H8 Bésib CusCagi Quir@mL_sar
(A) () and (iii) {(ﬁ)
©€) @Gv) (D) (1) and (iv)
(E) Answer not known
elenL QgMlueerame
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66. Alcohol test is done to know the content in fruits.

uprugailed 2 arer aThg 2 dreT_sasms AML yosanned Cersamer deliwiL@GSpg.

(A) Sugar ) Pectin
TGS Quéig e

(C) Gel (D) Vitamin C
Qg aveul__flemr — C

(E) Answer not known
eflerL Qg Mweiidrena
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67. Match the following :

“eemeuameuHanmis QUmTmSSELD :

(a) Maillard Reactions

Quullemil erdliell ene

(b) Light induced reactions

gafl e Liu’ L erdltelenen

(c) Aoto oxidation

senaflss < &8mGanhid

(d) Enzymatic reaction

Qprd erdlrefenan
(@ M) (o
(A) 4 2 3
B) 1 2 3
©) 2 1 4

o 3 2

1

(d)

1
4
3
4

(E) Answer not known

elen Qsflweferency

1. Free radical chain reaction
(P40|DIT APE&GTnMSET Fhifla)
erdlreldl anewr

2. Destruction of chlorophyll
GGarrGrmila oifley

3. Non enzymatic browning
QAprdl s 19 rey e

4. Dependent on pH and
temperature

pH wipmib Qauliuflenevmws sribss

68. Chemical present in commercial pectin is

auanfls sy afled QmE@d @remuasder Quwey GHIALayb

(A) Ethyloxyl
agHenssle

(C) Ethylene

er&Hledl e

(E) Answer not known

ellen Qs flwelerens

Home Science

v Methyloxyl

QusHeorsdle
(D) Ethylaldehyde
TgSlevmag man®
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69.

70.

Moisture content in intermediate moisture food is around
Qe flave Frliug 2 areild FILLSLD TEUAIETE 2 GTeTS)?

(A) 50-80% {15 - 40%

© 12-15% (D) 15 -25%

(E) Answer not known
Men Qg fweiidene

Choose the right matches among name of the food article and adulterant:
o amaylIQum@meT HmL seltiuL Quirmlsaiar QuuIisEssE QLG gflwmer
Qurpsssmss CoThOsHESLD :

1. Corriander powder - Common salt
Qarggweaadls grer Qurgleuman 2 UL

2.  Wheat flour — Mollasses
Camgienwo mey Qeudveiung,

3.  Mustard Seeds - Stones
IO SNHSHET

4. Sago - Sand or talcum
s6ucuilé) LOGHT DG LTEOSLD

(A) 1 and 3 are correct \{1 and 4 are correct
1 womyw 3 sflwurerenau 1 wpmib 4 sflwrereneu

(C) 2 and 3 are correct (D) 3 and 4 are correct
2 wpmyb 3 eflwirarenae 3 woHmid 4 FRwiTereneu

(E) Answer not known
e Qs flwelerena
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71. Choose the Right matches :
Among the micro organism and food borne disease :
sflwmer elen_enw Caib0sH &S :
parauiflseT wHmb 2are epod ured CpTusErsE @oLCu  sflwrea
Qumrmssrisamer Cgirey QauiweyLd :

1.  Clostridium - Dysentary
&Gemmevt_fliguid auullpmiGuiné s
2.  Virus — Hepatitis
aneUTan CamuenLig 6
3.  Shigella — Botulism
. a§Qsdar LM Hedlat
4.  Salmonella  —~ Enteric fever
greoCGmbereenm GL6 STUFFQD
(A) 1and 2 are correct (B) 3 and 4 are correct
1 womyw 2 sfwurereneu 3 oy 4 sfNwuneareney
‘({ 2 and 4 are correct (D) 1 and 4 are correct
2 vpmd 4 sAwnerenau 1 womw 4 sflwreareneu

(E) Answer not known
elen QgMwelerene

72.  Salmonella enteritidis in common food poisoning that affect

srGurCardhen earqfliqiqped ergybd o amrey dagorargy eps e mnded Lrdienu

FOUBSSHID

(A) Nervous system ~(Grastro intestinal system
BJLDL| LOGRTL_QULD Genrlienu GLed ey

(C) Neuro system (D) Respiratory system
CLPGNET BFLDL| LOGRTL GULD FOUMEF SEMLOLILY

(E) Answer not known
elen QgfMwelerene
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73.

Type of spoilage in which the food becomes highly acidic but often
appears normal and no gas formation is called as

ahg Qel@uCurer o ameld fls <flowrs M, e  CUEBLLTEID
gngmyanrong CHrenmid HMILD UL 2 (HeUTEHLD SranrliLi(heug Geema

(A) Toxic spoilage Flat sour

B&a epebd Qe HLGuredlaama sl anLwimen Lafl$ge0
(C) Metallic salts (D) Hydrogen swells

2 Gams 2 LIL|&ET 2 (HeUTeUST6) AN L_TRETTE 2 LIL|SE)

(E) Answer not known
e Qg Mweiidena
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74.  Choose the right matches :

ghlwurer Qummsghisamer Cgiey Qeiwey :

(a)

(b)

(©

(d)

L + 3

(B)
(©)
(D)
(E)

Clostridium Butyricum
&Germav_fliquid Ly g Aaswn
Clostridium Sporogenes

&Gemmav Mg wib svCuTGrmQey@ena
Bacillus polymxa

Cuélowen ured &

Clostridium
Thermosaccharolyticum
&Germav_fliguid

QarCureTaaCrmelly sb

@@ b © (@

2
1 2 3 4
2 1 4 3
3 2 1 4
Answer not known
ellen_ Qg flwelerena
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Aero Bacilli
gGrm Guéled

Thermophilic
&y Qeu b
Putrefactive
SA(LPGLD SETENLD

Sugar fermenting

gig&gany QprdHsse



75.

76.

What phototrophic bacteria need to synthesise their food?

SGUIL G Crmis  undeflunéser shsdr o amenel sSWMéEs Tag  APpSHW
SigLiuemLwing Q&mer(herersg

& Light (B) Air
el STHM)
(C) Water (D) Chemical
Setentit @ remweid
(E) Answer not known

e Qs flueidena

The organisms responsible for causing gray mold rot is vegetables and

fruits

smish wHmb uphsaild gHUBL FTDUO LEHME Si(HHH. CTHS o uiflemmigarmar

gouBEleamsg

(A) Geotrichum candidum ﬁotrytis Cinerea
ACwr Mg CaargL b Gum_figev Aeflflwm

(C) Eschorichia coli (D) Xanthomonas
crav@sN&Eflum Camana gnbCarGnearnTen

(E) Answer not known

e Qsflweidrene
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77. The slime producers in sugar cane juice are species of
&MHLE sTpdler Camantp semm 2 (Heurs LweTUBSSLILIH IS erare?
1. Leaconostoc and Bacillus

ICarGarmevCGLm, Cuélaav

2. Flavobacterium and Alealigenes
solllemmGour e fwibd, BelwurelQgerser

3. Micrococcus and Flavobacterium

aw&ECITGCsT&Ea, o lderrGouruiméiefwid

4. Saccharomyces and Pseudomonas

en&&5Grrenwgav, GGLTCLra ey

(A) 1 alone (B) 1 and 2 alone
1 b (Hwd 1 wHmiw 2 i (Hb

€ 1,2and3 Wi 1,2, 3 and 4
1, 2 wpmib 3 1,2, 3 wpmib 4

(E) Answer not known
elen QgMwelerena

78. Choose the diet for hypertensive patients
2w Q188 Si(pss Crmumells@nsE o amray (pappewis CsbEsH&E&HaLD

(A) Sippy’s diet Dash diet
AL Quer 2 ey wpepm Dash 2 awrey aperm
(C) Anderson’s diet (D) Paleo’s diet
pTLreaflen o anrey (e SD&M 2_GWTE (LPEHD

(E) Answer not known
edlenL QgMwelwene
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79.

Which of the following are the symptoms of diabetes mellitus?
Werreumeuameupler BMllley Crmuder ibl@dlser wreameu?
I. Polyuria
uradlw,fwm
II. Hypoglycemia
O\155F FTEHMIE GH®DEY
III. Glycosuria

AanerGam@flum
IV. Polyphagia
. I_IWG\S]oooGL_Ié]l;_Iﬂ
V. Edema
6Tig Lo

VI. Taste Acuity

GEne GanLd

) L IIL IV B) IV, II, 111
(C) VLIV,V (D) I, IV, V
(E) Answer not known

e Qs fMweiidena
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80. Choose the fruit rich in flavonoids

“Garedler Hlmlger Hab o arar ug(&,g‘,]mmf(g,r‘r@@g,@é;&mm
)

(A) Custard apple Grapes
&S LpLd om_enaglt LD
(C) Pine apple (D) Wood apple
Seerm L Lpid eflemmib LipLd

(E) Answer not known
elen_ Qg flwefeweme

.81.  Give the sequence of development of vascular Atherosclerosis _
aurav Gt HHCrravdlafiCrrAuden cuarisfuler euflansanuid Qam{Hsseay b
1. Mature plaque

wdibs 9Cens
2.  Transitional plaque
@aen_flenew 9Cens
3. Fatty streak
Qampliy Gl
4.  Ruptured plaque with thrombus formation
8155 e e 2 Ganssigi e amsps GG
A 1,2,8,4 B) 2,4,1,3

€ 3,1,2,4 -(tf:a,z, 1,4

(E) Answer not known
eflen Qsflwelerena
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82.

83.

84.

People consuming excess amount of caffeine are prone to which of the

following disease?

SsliLguinen &oolen o L Gamerueumaer (Yemeumid 6rhg CrmlisSE, <y emrdlnriser?

«( Coronary heart disease

@sw Grmu

(C) Lung disease
preoguired Cumu

(E) Answer not known
eflenL Qg Muweiidena

Dash diet prescribed for

(B) Liver disease
seadrd Crmul

(D) Skin disease
Camed Grmul

Dash o awey enp ufipgarssiiuBeug

(A) Peptic ulcer

euullbm Lyemst

(C) Diabetes Mellitus
piflay Cpmu

(E) Answer not known
elen G flwelcrene

Anti-diuretic hormone is
96T L Tg.& anTrGLomeT eTg)?
(A) Estrogen

eravGLmysge

@( Vasopressin

GeuGerligadlen

(E) Answer not known
een Qs flweildene

lﬁ-lypertension

o Wit @765 A(WPHSD
(D) Obesity

2_L_60 LI(HLOG

(B) Insulin
@ enaadlem

(D) Rennin
Qeesiles
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85. Normal serum creatinine value is

Quieurs GmS Hreu Blled ARlwmiqeafllen @{ygrj}@m [NGEIGT
0.

(A) 0.5-0.7 mg/dl 7 - 1.5 mg/dl
0.5-0.7 5.8/QLa 0.7 - 1.5 8.4/QLa
(C) 0.9-1.25 mg/dl (D) 1-1.5mg/dl
0.9 - 1.25 8.8/QLa0 1-1.519.8/QLe

(E) Answer not known
alenL Qgflwelerena

86. The waist circumference.of an adult man greater than.
indicates abdominal obesity.

auwgaubGasTT @ HILILY &HMHEeTE Goé QmBSTD, Sieursamer euulbmer LW,
2 Lo (Aswews QsTs&sb) LSS eTemmapLiLi.
(A) <100cm ) > 102 cm
<100 Qs&.8 > 102 Qg.8
(C) <98cm (D) > 115cm
< 98 Qs.8 > 115 Qg.85

(E) Answer not known
eflen AgMweldema
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817.

Assertion [A] :
spm (Al
Reason [R]

snyentd [R]

Malaria is caused by the infection with genus
plasmodium

wCGoflwr  GemmevCGomquith  QensHenr  Qgromy  Comwumed
FhubEng

Death due to malaria have reduced significantly in
recent years

wCaflureuré® ghu@b @nuysar slusdu  yar@Hsailen
SentlFLONs Genn b eTeren.

(A) [A] 1s true but [R] 1s false
[A] &M, syemmed [R] seumy

N

Both [A] and [R] are true

[A] wpmid [R] @rein@i o
(C) [A]is false, [R] is true
[A] saum, [R] &l
(D) Both [A] and [R] are false
[A] whpmib [R] QrairGid seum

(E) Answer not known
elenL Qgflwalerenaw
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88. Match the following grading of obesity based in BMI :

2 L& eTanl GMuIL QL afr SiiqLinentulleb 216 Lpenen Fllwmsl QuT(HSss :

(a) Grade III 1. <25
gyw III <25
(b) Grade II 2. 25-29.9
gy 11 25 —-29.9
(¢) Gradel 3. 30-40
g | 30 — 40
(d) Not Obese 4. >40
LI(HLOGITTS @ena - >40

(@ ®m (@ (@

'6 4 3 2
® 1 2 3
© 2 1 4
M 3 2 1

A~ W

(E) Answer not known
elen Qs flwefeene
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89.

90.

Which among the following represent the III stage of hepatic
encephalopathy?

Spsam_aupmier swedrd Crmi epaatsCaratmpilen epsmmmd st Hlaewaw GOllug
oG "?

(A) Mild confusion, agitation and irritability
Adlg @Louub, Herréd wHmib rfFsaimib Searano
(B) Disorientation, inappropriate behaviour, drowsiness
Hangs — GLULID, (PErDWDHD ULPES QIRESLD DML 66 SEHLD
(C) Coma
Heel &S Hlane

f{) Confused, aggressive behaviour when awake incomprehensible
speech

Gliu foe APsHmsmsuian udCorss pgoms, Uiibg Gamdrer (pigwng

Cué&s

(E) Answer not known
elenL Qgflwalerenaw

Lack of para amino benzoic acid leads to

urgr @dCarm QuanGemuils siflewsear LHDTEGMD THHE eufleuEGESng!?

(A) Dengue (B) Jaundice
QLrai, LDEHFET HMDTENGD

\L)( Malaria (D) Typhoid
wGeflwrmr enLumi(®

(E) Answer not known
eenL Qgflwelerane
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91. Which of the following Dietary manipulations will you suggest for IBS
with flatulence?

aumygsromawar sigw eflésd Qaram, Gl Crrius@ENéE Geameumb bhs
o areys s WmEhsameLt Lflbgianyss Couam(Hio?

1. Low fibre diet, avoidances of carbonates drinks

GmDHS BbIIEEsSE 2 eame ol Gsrarensgd wHmb sflulosury Hopbs
unersansg $64Tsge

2. Proper meals, avoidance of foods from fabaceae and Brasica
families

sflunar 2 ey >CUCUA HmID LFTHaT cuems o aroysmer s6diEseH

3. Increased intake of fats, high fibre avoidance of aerophagia
<igls Aempliy 2amey 2 L QanaTEnsd, ifs prisss o araeu sedissH SmHm)
Mri@gsme 5615560
(A) 1 alone is correct (B) 1 and 2 are correct
1 vl G e 1 womid 2 &M
(C) 2 along is correct (D) 2 and 3 are correct
2 @G &M 2 ooy 3 &

(E) Answer not known
sllen QgMwelerena
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92. Which of the following are adjunct to diet therapy?

Weneumeuaneuples erg) 2 amrey Sllgang)Len Qeanamsdlng)?

1.  The food guide, food group system, Exercise and Yoga
2 awrey ST Iq, 2 amey @GP ey, 2 L Huuihél wpmib Cuirst

2.  Physical Activity mental alertness, Yoga and simple diets
o L& Qeweun® efiliyenriey, Cursr wpmid eeflu o amrejsar

3.  Vegetarianism, Stress management, Yoga physical activity
egauld, ar i(WHs Coararen, GursT, 2L deweur®

4.  Exercise, Physical Act1v1ty, Yoga, Stress management

gl_g)uufﬂg)eﬂ 2 L@ Qaum)urr@ Guram, e é{@g,g,m Camerentn .

(A) 1land3 (B) 3 alone
1 wpyd 3 3w Hb
) 4:alone (D) 2and 3

4 @b 2 wpmib 3

(E) Answer not known
elenL Qg fluelereana
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93. Match the following Nutritional problems with their corresponding
stages of life :

Eparer 2ar_ 55 @@DUTHEmET SFDETE curpsamsuler HamasGart(® Qurmsss :

(a) Anaemia 1. Old age
@r55CsTens QUWISTEITEUT&HET

(b) Dental caries 2. Infants
ue Qergens NG (GLPIHEN S & 6T

(¢) Osteoporosis 3.  School children
STIDLILIL|EDT, S| ueTetld @&BHenSEeT
< evig Cwir GurCrrélev

(d) Protein Energy 4. Adolescents
Malnutrition
LTS %pHmed 21’ | &85 auarflemd LimeusSl et
&@emoum(h

(@ ® (© (@
4 4 3 1 2
@) 3 4 2 1
© 1 2 3 4
D) 4 3 2 1

(E) Answer not known
clen Qsflwelerena
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94.

95.

Assertion [A] : Cow’s milk is not recommended for infants less than

one year of age

sapm [A] L@ awdng Spedar LS GRHMSHEHEES WL (HULITD

uflbganrssiiuBheudaama

Reason [R] : Nutrient composition of human milk is different from

that of cow’s milk

smyewtid [R] : smiunaller edrer ssgissallan Gsomeud@EGn LILGL  umelen

(A)

o«

©

D)

(E)

saeud @b Coumuimhies (.
[A] is true but [R] is false
spm [A] &, sryamrd [R] seum
Both [A] and [R] are true and [R] is the correct explanation of [A]
smon [A] wombd smerd [R] sfureang. @omse [A]l gop styed [R]
STUUL_(HeETerg).
[A] is false and [R] is true
s [A] seugy, sngemd [R] eflureng

Both [A] and [R] are true but [R] is not the correct explanation
of [A]

sy [A] wogb smemn [R] sflurag. smbpméeg [Al gdp smpeamd [R]
gruuLeleana

Answer not known
ellen G flwefcrane

Amount of carotene present in a papaya fruit is

utiurefl Lsdle o erer sCITLg 6 (STeurs GaboEhEeT HipLl) Siemey

(©)
(E)

2740 pg/100gm (B) 2100 ug/100gm
3500 ug/100gm (D) 1200 ug/100gm

Answer not known
een Qsflwaicene
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96. On using MNA assessment tool if an elderly individual scores less than
17 points he falls under category of malnutrition.

MNA wdulSi@s smelowl vwau@sgsnd GCurs @m euwster pui 17
yetefla@hé@s Gapeunsls Qubdord, Seul o’ 85586 GoouT(H
euanguilen S1p eu(meuTit.

(A) Normal (B) At risk of malnutrition
ETSMTemT oar’ | 658 (GEPDHLIML_IG 6 LMD
) Malnourished (D) Chronic energy deficiency
oaIl L §855) GDUT(H BIETULL ,HMEd Gemum(h

(E) Answer not known
slenL Qg el erena

97. The additional calorie requirement during 34 trimester of pregnancy is

gpemreug) k.engbwevfléd srlefl Quanafing shsors Csmauiu@n sGaurMufer

S{6Te| Wmg?
(A) 200 K-Cal (B) 250 K-Cal

200 4. sCarMaar 250 4.sCamfser
(€) 300 K-Cal Y05 350 K-Cal

300 &). sCarflsar 350 4. sCGarfaer

(E) Answer not known
efenL Qg flweNweme
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98. Total Energy needs are increased in Adolescence because of

ALmawflear Qwrss < nnd Csameu iflafliiLignsE QeaeusGer sTreamTd

1.

(A)

©

(E)

Increased physical activity
s 2 L gnibg Qeudur(

Larger body size

SIHG 2L ) eTay

High intake of Soda, Coffee and Tea
GerLnm, sma whmib Coalt HFsb 2 L Garearenge

Low intake of milk and fruit juices

LM HMID LIESTD GEDHEUNSE LI(H(ESW

1 alone is correct malone is correct
1 w_ @b e 2 (b &

1 and 2 are correct (D) 2, 3, 4 are correct
1 wpmyd 2 & 2, 3 oy 4 &

Answer not known
er Qgflwieiidenay
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99.

100.

Assertion [A] : In pregnancy, there is a decreased ability to taste

saltiness.
gapm [A] D &MU sresdld o ILg satemwenil &meus@EGbn Sne Gamndng.
Reason [R] : This may be due to a physiologic mechanism for

decreasing salt intake.

smyemd [R] D @8 20y ol Qardratenes GoplLiugHsTar o Lelwe wrhoLd

STIETLONS @)(HESHEMLD.

K [A] is true but [R] is false

®)
(©)

(D)

(E)

[A] s ayams [R] gouy

Both [A] and [R] are true and-[R] 1s the correct-explanation of [ .]
[A] whmibd [R] &M, Guoaub [R] sflwrar [A] ssnar sdemésid <@

[A] is false, [R] is true

[A] saum. [R] &

Both [A] and [R] are true but [R] is not the correct explanation
of [A]

[A] womid [R] &fl, spemmed [R] <pang) [A] samer sflunen efenésinde

Answer not known
eflen Qs flweferene

During the old age, the average total calorie intake from protein should

be
auwgner sTsdld, Urssdambg syrefung Qurss sGonfl 2 ' Qararere
8 @)(H5S Ceuar(HLd.
(A) 10- 12 percent (m — 12 percent
10 — 12 sgaeiswb 11 - 12 szeisw
(C) 12 -13 percent (D) 10 — 15 percent
12 — 13 gs6Ssd 10 — 15 sz6iswb
(E) Answer not known

elen Qzsflwelweme
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101. During entire pregnancy, loss of maternal iron through skin and sweat 1s
about

102.

&MU ST (p(eugid, Csrd wHmd efwifenel epawrs sruiler Q(HDLEFSFSS QUL

(A)
(©)
(E)

———— 9,6 D _amaTg).
175 mg m'm mg
160 mg (D) 195 mg

Answer not known

e QgMuwefwena

Hormones related to calcium metabolism in a pregnant woman are

smeaypp Quameailer sawammby §5g  eenifleg wLIHNSEDEG GgrLTymLW
anrrGLorenser

<

(B)
©)
D)

(E)

Estrogen and Parathyroid hormone

eravig. Grmsgen wHmID UTTT egrmi® anmrGurer

Estrogen and Progesterone

eravig Grmggen wHmitd LGrregevg Grme

Thyroid and Parathyroid hormones

engrm(H wHmId LMTT egrmi®H anriGrerseT
Progesterone and Thyroid stimulating hormone
LGrregavig Gymen HmItd engrmii(h 2eré@edl&Ew anmiGume
Answer not known

en Qg flwelereney

69 Home Science
[Turn over



103. Identify the correct prenatal nutrition alterations during pregnancy
sHus sromiseiler ghu@L WsLGCLMGE wpoHul L wrmurhseaied sllurearg g ererm
sarr(HL9g
(A) | White blood cells, | Serum albumin and 1 Serum folic acid
s Qesetever siamssdt GoPsD. GBS Sren sdyblar yish G@pse,
GmE Slreu ~Cumells e g(Hse
) 1 White blood cells, | Serum albumin and 1 Serum Carotene

Qrss Aeudrenar diamsset (50, GBS Sreu sidLfar LIsDd GoDsD, G®HS
Slreu sCrml_tedn sa(HFe

(C) 1 Serum Carotene, | Vitamin A and | Urinary riboflavin
GmE dreu .sCGrmieedr sa(hisw, meulLiflan g GoODSDH, GoODHS AmB
o oflGuMACaraden GeueflCupme

(D) 1 Serum folic acid, 1 Serum B12, | Urinary riboflavin
G@E frau S Curdls suflab &mBso, Gm Hreu A, 8050, Gopbs Anbi
ALGUMACareller QeuaflGuihmen

(E) Answer not known
elen_ Qs flweféene

104. Alzheimer disease is more common during

Hlevareurhmed @iptiyy G arps euwdléd Qungleuns srarTliLIHID

(A) Adolescent (B) Adulthood
LI(H6U GUUIS, AT auwg)

(C) Pregnancy ﬂ)rOld age
STUIL &TeLD (PSIGOLD LI(HEILD

(E) Answer not known
efen Qs flwelwene
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105. Match the following type :

eeumd euansanwt QuT(HSs)s :

(a) The Prevention of Food
Adulteration Act 1.
2 a6 SeUILIL D SHILIL| §UL LD

(b) The Consumer Protection
Act 2.
BI&TGeumT LMgETlL &L 1D

(¢) The Consumer Bill of Rights 3.

B1&TGaunT 2_flenwser wCemgm
(d) The Essential Commodities

- Act : 4. -

SHureufluid Qurmlser L b

@ @® © @

A 3 2 1 4
® 2 3 1 4
“« 2 3 4 1
M3 1 2 4

(E) Answer not known
eflen Qs flweleana

1955

1954

1986

1962

106. Which Act in India is considered as the Magna Carta of consumers?

@Qidureie eapss gL b HaTGeurflar wrsearm smilLreurss smsLLGSDS?

(A) Sale of Goods Act

Qumr@Lser eflpuenar &L Lb

\( Consumer Protection Act

BISTCaUTT LTSI FLUL LD

(E) Answer not known
lenL Qgflwaleenay

71

(B) Consumer District Forum
BI&TGeuMT rell L ETmLD

(D) Consumer Provision Act
BI&TCEUMT QULOMHISZE FLL LD
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107. When was the Trade Marks Act enacted in India?
@Qpdurede eursss wpaany b eriGumrg @uinoliul L g)?

) 1999 (B) 1991
(C) 1989 (D) 1986
(E) Answer not known

ellenL. Qgflweldena

108. Consumer Protection Act was initiated during the year

BIsTGeumt urgismiL # L1 —————— oy g QT misLILL L g).
" (A) 1984 | " (B) 1985
7 1936 (D) 1987
(E) Answer not known
eflenL Qzflweldene

109. In which place Consumer Education and Research Centre is located?

EIsTGeunt seell HmI @ImiES ewwb 6THs LS o drartg)?

(A) Mumbai (B) Chennai
(pLenL Q&eTenas

€ Ahmedabad (D) New Delhi
SELSTUTS Lgl Slevad

(E) Answer not known
alen_ Qg flweldene
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110. Identify an element that is not included in the function of buying

Spaumeuareun e ereneu QUM semeT eunmi@b Qewdur@saild CargsliLings)?

M Coordinating (B) Estimating demand
R(HEEl eSS e Gaaneuanw S (Hge

(C) Assembling (D) Merchandising
T GHEMT S S 60 cuanflgLoworsse

(E) Answer not known
elen Qs flwaelcrane
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111. Reason and Assertion

Assertion [A] : Facility of consumer credit system, Hire purchase,
instalment purchase are called consumer credits

gapm [A] D msTGaunt sL6 Siewlily, aurLams Qararipgsed BIsTGaurt L6
TarILBb Seuament Q&TETPSD cuUFs).

Reason [R] : It plays an important role in taking decision regarding
purchase.
sryenrd [R] : Qsnatpse wpiyGeuBriudled g psdwu ukiE udlsdng.

(A) [A] is true [R] is false
sy [A] &R, smyammd [R] soumy

) Both [A] and [R] are true and [R] is not the correct explanation
of [A]

ampmd [A] srgamapn [R] af, sryamd [R] spmssrer [A] sflurer eflerésid
@ eena

(C) Both [A] and [R] are false
spmb [A] sryemupw [R] seum

(D) [A] is false [R] is correct
sy [A] soum, sryenrd [R] ol

(E) Answer not known
eflenL Qg Muwefdrenay
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112. A form of contractual retail where unique product, trademark, goodwill
etc are of great concern is called

113.

114.

saflgiauwner gurfiliy, euisss WiHeny, Bobaaramd Curaipamet WEGHS HES®D
Qarepr @liunm fasupanm eflhuemaniean erhs eulgeler SampsslLGHang).

©

(E)

Franchise (B) Discount stores
o fenn SET(@HLIlG HEDLGET
Factory outlets (D) Super market

Qsmnarena elpriener Hlenewimiger GUUT SHensSHeT

Answer not known
eflenL Qg Mweiidana

Hoarding is a practice which is classified under the category.

(A)

©

(E)

LISIHEE eTamLg) eTEen euansufe S1p mm&ﬂ?&u@fb?
)

Fair pricing Black market

Blumuorer flene &(HUY FHens
Fair value (D) First point
Bluimw wdiy e Yerefl

Answer not known
eflen Qs flweldene

Indian Institute of Packaging (IIP), The Apex body of packaging industry
in India since

@Qpdureiledr CusCasgim gienpullen 2 &8 emwly, @BHu CusCslm Hyeuend
eriGuing Himeui@uDD.

)
©)

(E)

1948 maese

1971 (D) 1974

Answer not known
sflenL Qg flweleena

75 Home Science
[Turn over



115. Assertion [A] :

sy [A]

Reason [R]

smyamd [R]

The management process by which a product is
branded is called branding

@n swurfluler eumflas Hearemd eeamm @WESILGHLD
Coarameny Qaweapany.

It involves giving a brand name to a product, designing
a brand mark, establishing and popularizing it

@g @nm surliyse @ cuallss Saand QsrT@lug, iger
SOLWLMEATEMS  GUGEUMLSSD, s  Bimese  woHmib
GrueUUBSSISO DG LD.

(A) [A]is true, [R] is false
gon [A] 2 a@wewo, snyenro-[R] seumy
{ Both [A] and [R] are true and [R] is the correct explanation of [A]
spm [A] wpmib sryerrd [R] e @renw, sapmisanen [A] sflwiner elatgswomgid
(C) [A]is false, [R] is true
sgapn [A] seum, sryemid [R] o arenio

(D) Both [A] and [R] are true but [R] is not the correct explanation

of [A]

amom [A] wpmb srgard [R] e araw, e srpemnd [R] sapmidaren [A]
gflwmen elleT&Hb e

(E) Answer not known
eflen Qzflweicene
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116. Assertion [A] : Market is derived from the Greek word ‘Mercatus’.

aapm [A] . abeng araug HCTEs aunigangwiner “Quisrien” eerude(mHa
UbSE!-

Reason [R] :  Meaning of ‘Mercetus’ is ‘to trade’

smyamd [R] ;. “Quistan” eramuger Qunmer “euanfisn Qeuigean”

(A) [A] 1s true, [R] is false
sapm [A] &R, [R] seum
(B) Both [A] and [R] are true and [R] is the correct explanation of [A]
gapn [A] womb srgerd [R] sfl, srgewd [R] sapeom [A] efenr sflwmen
eHleTEaHLD &b
. ‘6 [A] is false, [R] is true
sapm [A] seun, sryanrd [R] &

(D) Both [A] and [R] are true but [R] is not the correct explanation
of [A]
gapn [A] wpmib sryernd [R] sf; eparme sryaod [R] sapeom [A] edler sflwimer
MNeTEHHLD

(E) Answer not known
sflenL Qgflweleena
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117. Which among the following is not true of a market
emeumeuaralHiley Fhansanwits LHMIL 2 GHTend @)ena?
(A) Relates consumer wants to resources

BIsiGaunflen aueThisEnsE ghp Csmausdr
(B) Network where buyers and sellers interact
QUMRIEGLGUT&EHD eNDLIGUTS@ER&@G e QFTLTLSe6TLD
) Net governed by demand and supply
Hlag Csaneu HMID auPRIGH epaid FlTeudlsasiiLibhdlearng
(D) Place where buyer an_d seller gather
BI&TGeum®HLD 69 HLIGITSEHD FHhH&ELD @LID
(E) Answer not known
edlenL Qgflwelerenay
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118. Assertion [A] : Continued consumer exploitation and dissatisfaction

had led to the emergence of consumer movement in

India.
samm [A] : Qerui mesrCeunt  asgawLe wHmbd  HHwLE  pHua
@pdlureier marGourt Quissd 2 (Heurs eulfl euGSSs!
Reason [R] : It was started as a defensive force to safeguard the
invests of consumer
sryenid [R] : @8 &G Bomear UTHSTEGD @ SHSTUIL HeOWLLILTS
Qarimisiu’ L g|.
(A) [A]1istrue [R] 1s false
gadm [A] &M, smyewrdo [R) soum) . .
6 Both [A] and [R] are true and [R] is the correct explanation of [A]
aon [A] wombd srremd [R] &, spy [A] elen sfwrer edarsen [R] wp@n
(C) [A]is false, [R] is true
spm [A] saug, [R] &f
(D) Both [A] and [R] are true but [R] is not the correct explanation
of [A]
gapn [A] vpmb srgemnd [R] e, syemmed smpemrd [R] sapm [A] el sfiwmer
NeT&ED
(E) Answer not known

ellenL Qgflwelerenay
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119. When the composition, nature, quality of products get altered due to
addition or removal of certain substances it is referred to as

@@ o Qurlasamer Caigsm owg BeEs® epeb ¢ claerGummatiar sweana,
SETENLD SO SIS LTHDSMS FDUBSFHUMS eTeucurm GHILIABHeuT?

(A) Black marketing ) Adulteration
&(HLIL| EHENS SOLILIL LD
(C) Hoarding (D) Grey marketing
LIgI&&6D &MDLIQ) §HENG
(E) Answer not known
elenL Qgflwelerenaw
120. Statement 1: Consumer rights are related to purchase and sale of
goods and services
gapm 1 . m&Geunt 2 fewser arariu(eug Qurmlser wHmb GCsmeusar
Qamitumeng
Statement 2 : Consumer responsibilities is being aware on consumer
rights
gapm 2 . meGeunfler Qumpiiyser aartiu®eug, msTGeurt o Mansar
updlw eNA UL erTTeyL_6tT @) (HLILIG).

‘6 Both statement 1 and 2 are true

(B)

©

D)

(E)

1 whmd 2 @reawr® EDHmEEHLD 2 6HrenLn
Both statement 1 and 2 are false
1 wpmd 2 Qe sdnsEHD Seum
Statement 1 is true, 2 is false
gapm 1 2 ewenio, yemed gmpm 2 Seum
Statement 1 is false, 2 is true
gann 1 seum, e &b 2 o arenn

Answer not known
e Qg flwaelerenay
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121. Every year 15th of March is observed as which day?

@aiGeumm e wrid 150 Cadl erbs pratms sigusfsstiuBEng ?

(A)

(©

(E)

Customer day (B) World consumer day

QUM SESWITETT Sleud 2 @& BIETGaTT Slamd
Universal customer day %World consumer rights day
2 Q&ETT6ellW UMy SESWITETT [HI6T 2 w8 B&TGaunT 2 Manwser Seid

Answer not known
eflenL Qs flweldena

122. Assertion [A] : Right to healthy environment is a recognized right of

consumers
sapm [A] . o Crrsflunner Gpaisatar o flew  earug  msTCeumfen
smsfilssiiu’ L o Aepwim@.
Reason [R] :  IOCU and CICO added this right to the existing ones
sryend [R] : IOCU wpgi> CICO edrer o fewew ghsaGe o drer
2 fenwowLer Caiggan.
(A) [A] is true [R] is false
sapm [A] &), [R] seug
6 Both [A] and [R] are true and [R] is the correct explanation of [A]
sapm [A] womib sryed [R] ef, sapmy [A] eflen eflwren eflargsn [R] <y @bd
(C) [A] 1s false, [R] 1s true
sapm [A] seug, [R] &
(D) Both [A] and [R] are true but [R] is not the correct explanation
of [A]
sanm [A] wombd sty [R] e, gy eamé srgamd [R] eadm [A] efer sfwimen
MeTESHLD e
(E) Answer not known

ellenL Qgflwaelrena
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123. Families are classified according to the marriage regulations and forms

LOGHT m MO  LOMID  GUGEUBIFENET  MOUG (HLUMISET  GTEUGUT
® PG i '¢- 88 6 o

aumsLILUHSSILHSDG!.

(A) Patriarchal (B) Endogamous
sHas cui DASL@TE &P

(C) Paternal and Maternal YﬁrEndogamous and Exogamous
sHens el LHMILD STieuLd SASHLOEE (G(LP OMHMILD L{MLOERT (PO M

(E) Answer not known
ellenL Qgflweldena

124. Patria.rchal and Matria.rchal family is clz;ssiﬁed based on ‘
sHeng eudl LHMID e GHDULD 66 g LiLenLulle) euansliuBiSsLILIL_(heTeng
(A) Size and structure of family

GHUSHET 6T LHMILD SjenoLiL
) Nature of Authority
SiflsrrsHen senano
(C) Ancestry or descent family
LTDLNT Sjvg eulbgmeuatudet
(D) Nature of residence
B0 B Guiny
(E) Answer not known
slen Qg flweleana
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125.

126.

The strong, affectional tie that humans feel towards special people in
their lives is called
wafllgiser smger eumpeied HApduner puiseiLbw Qeuafllu@BsgHbd eugeuTe
urstienearTiiLy —————— eTam APESLILIHE ).
% Attachment (B) Temperament
GeamnTiiLy wCGanmumeud
(C) Egocentrism (D) Distractibility
SIEBHOS seuangslsmed
(E) Answer not known
clenL Qg flweidenay
Which of the following (statement is true)

Sp&aTamibd ahmysafle e1g) 2 amento?

Statement 1.  Family is a social Institution
@MU ereTug) Feps Hlmieuad
Statement 2. Family is governed by cultural norms

@MU ererug Liarum (B QbdlipansemTed SawwiiQubHng.

) 1and 2 are true (B) 1 and 2 are false
1 womid 2 2 aweno 1 womid 2 geumy
(C) 1istrue2isfalse (D) 1 1is false 2 is true
1 o awenwo, 2 geumy 1 goumy 2 2 awenio

(E) Answer not known
eflenL QgMweldena
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127. There are so many different types of play suitable for young children.
they get enjoyment from watching or listening to someone is called

M GLHMSEEHEHE JHD LI euamswner cllaemum_(h&eT 2 drerer. sieneusafler fleoveany
UMTEEID g GCalHib wdlpsflwuemLyb elepemwim(H

(A) Video games ) Amusement
&G Cabd Coefléans
(C) Fantasy (D) Exaggeration
SHLIenET Wenstiu(®sS eflanemum(hise

(E) Answer not known
een Qgflweildene

128. Identify the communicable disease from the following

\Qereu(meuameuHdled QFTHDEE gt ChTanwis seaTL_MliwicLb.

(A) Marasmus (B) Scurvy
LITELLE — Feuana Crmu ev&redl

( Measles (D) Rickets
SL_L_LbEnLD Seneré @ (H Crmu

(E) Answer not known
elenL Az flwefcreney
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129. The period from the time the germs enter the body to the time the
symptoms appear is called
Amger 21 afled Hiewwpwbd Corb s idGHsar Csrammibd euegullorer &reid
eremanoeueim SnP&SLILI(HLD?

(A) Convalescence stage (B) Chronic stage
GeOENL_U|LD Fleanay maTuLl L Blenew

(C) Acute stage {;’ncubation stage
sHenwwimer Hlena SOL&1550 Hlenew

(E) Answer not known
elen Qs flwaeldrene

130. The feeling of angry resentment directed towards other people is called

whpeutsaib flsug RFSTD  CQsTemEnd Sarewat ———  GTaNS
A Bau.
(A) Fear (B) Anxiety
LIwILD USMHOLD
wf Jealousy (D) Guilt
Qurprento GDD 2_emTiTFs)

(E) Answer not known
eflenL QgRwefcrena
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131. A famous psychologist Stanly Hall referred to this period as
a period of “Storm and stress”.

Stanly Hall ¢m Grue e arefweremi —————— Lpeugms Lwe wHmibd wer
SN(W&35Hen ST eremy @GOLIAHE .
(A) Period of infancy Period of Adolescents
GpeliiLmeuLDd GUEITIT@\GTLD LI(HEULD
(C) Period of Adulthood (D) Period of old age
e (pET euuIg) LiHeULD (PEIEnDLI Li(THEULD
(E) Answer not known

aflen Qgfwalcvanen
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132. Match Column I with Column II correctly and select the answer using
codes:

Qp@euflens I, ApHoufeng L1, o e sfwnss QurmsH), e ew CaibAsHEsaLD.

Column I Column II
QpHeufeans I QApHeuflens IT
(a) Lisping 1. Can Articulate but may be unable to
enunciate first consonant of word
dlaviim 2 §M&ES (PlgU|D, UETTD G uUTTSmSUAGT (PGS
Quwienw 2 &sflés wpigwmoe Cunsemb
(b) Slurring 2. Difficult to sound certain litters
aveflm e (& FIGSMaT a0LILIG &l GDd
(¢c) Stuttering " 3. Gasps hesitates may or may not be able to -
produce sound
Slemrmed Gaavtian, WssEIGET eFhLmHID Hlane
(d) Stammering 4. Indistinct speech due to inactivity of the
lips, tongue or Jaw
auLmofik PEPESHGD eungsmIGeT CUIETD UTTHMSHEMET
RS QUISESD
(@ ®d © @
) 2 4 1 3
B 2 3 4 1
©C 4 3 2 1
D) 2 1 4 3
(E) Answer not known
efen Qs flweiidena
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133. Companies distinguish their product offerings from competition, help to
create a unique position in the minds of customers.

Bneiamiiser gshsaflenr gwrfliysener wHm Blneamseile @mbgs Coumu®ss
s&rlLeyd, BIsTGaunfler wardle g Hlaawrer @L samslt Qumeug.
(A) Popularity of the product (B) Strength for the product

Wruewrer Clummer swrilliGsmen auallento
(( Brand image (D) Attraction of the product
gwrfliy Qyrerr’ uL b swrfiiiQer G o erer Ly

(E) Answer not known
ellenL Qgflwaelcrenay
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134. Match the stages of cognitive development with the period of
development as proposed by Piaget:

Qur@nl wper@wmAuiiul eeriéfluler sroslLsgiLen dleaumhnd euariFHeanw

QummSS&

(a) Sensorimotor 1. 7-11yrs
o anti& o pgblene 7 - 11 gy ar@pser

(b) Formal operational 2. Birth - 2 years
pepwiren Qgweum Qoly - 2 sy amBHser

(¢) Preoperational 3. 11 yrs and older
DYUWSHE SLLLD 11 gar® s — pdiss

(d) Concrete operational 4. 2-—7yrs
AL ug Qewedpanm 2 - T ya@mpHsdr

@@ G (@ (@
@A 2 4 3 1
qf) 2 3 4 1
© 1 3 4 2
M 1 4 3 2

(E) Answer not known
elenL Ggflwelerane
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135. The process of change that humans experience from conception to death
is known as

em wallgafllar Gply wgd QoY ey gHuBbd wrHprisaiear GQFwIPED

—— aran GO AuB g
(A) Aging m)evelopment

(PFHIEOLD LG QumESHD
(C) Maturation (D) Growth
AT SienLge alarmEs

(E) Answer not known
ellen G flwafcrenc

136. Write the Sequential order of the development of play among children?
Gwbmssaia_Gu elenerwimiyen auetidflenw euflansiihsd er(Lpg)s.

I. Parallel play

@ aant ellenemum ()

II.  Associative play
glenant eflenamuim (b

ITI.  Solitary play

gastl eflenerum’ (5
IV. Group play

& eSevemuwim_(H
V. Co-operative play

a_(Hmey elleverwm’_(H
A V, LIV, II III (B) IIL IV, L, II,V
(C) ILIILV,I IV MIII, LILIV,V
(E) Answer not known

sl Qgflweldena
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137. Choose the right matches among type.

etteu(mLd euanganuitl GumBSEIs

(1) Reflex

‘ﬂoooQ@$GfU/|g]Ué)]UQS]|;IL|
(2) Gross motor skills
Qumbsms Quisss Snensar

(3) Cephalocaudal Principle

Q& LGunsTL Qamarens

(4) Vision of an Infant
u&slarhiEpbansuller Limtanel
\ﬁ{ (1) and (3) are correct
(1) whmbd (3) &
(C) (2) and (3) are correct
(2) wpmyw (3) e

(E) Answer not known
efen Qs flwelcrene

An automatic response to a
stimulation.

QR SaT(HSa&E sraflwibid Ll
Drawing and cutting with scissors.
&858 M&Garamed Ceul (Hed WHMID eUMTsD
Cumrenn Qeweger

An organised pattern of physical
Growth that occurs from the top
down.

Cuoedl(mbs &prs  gHu@D o L6
cuem&Sludlen (BISEESILILL. LU
- Qsmetens
The well developed sense at birth.
Wp&Eb CurGs Be (s eueTThS 6(h 2 awTiTey
(B) (1) and (2) are correct

(1) wpgid (2) &
(D) (3) and (4) are correct

(3) wppi> (4) of
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138. Choose the right answer. “Amniocentesis” is a medical procedure done.
‘@alCurQear_alley Cemgamen eranp WMHSH BoL(PpdD — SPouHELETELHHIET
org &Ml erenmy Qghey Qewis.

(A) To diagnose structural birth defect like heart malformation

@sws Geonunlkh Cumerm slLenwly dply Gepurhsemer serLHlw
Qediwtiu@&ng

) To diagnose Genetic Disorders
wrugn Garermmisaner ser_MHlw QewudiuGing
(C) With a sample of placenta tissue
Bé5&0sMy flassamer 2 LCWTHSE QFCarsamen QawiLBdns
(D) To monitor the growth of the foetus
& cueti&Slenw samsrantlss o so flng

(E) Answer not known
aflen Qs flwaferene

139. Ego centrism an inability to consider another person’s point of view is
found in stage.

‘mGar  Qeemgfavd”  (SemeWeUTSD) D  WHDETSEEMLW  LMTaeapL
P&gIE0sTETaT  Wpipwimod ser@iemw umiemaulGe uriEEh sa@w  Hlaauid

sreriu(hEng).

(A) Sensory - motor stage mre operational stage
Yever QuissE Sbgseme Hlana phHébgemaer bleane

(C) Concrete operational stage (D) Formal operational stage
L, Sibganar Hlevew wpnébgeman lane

(E) Answer not known
eflen Qs flweferene
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140. The Industrial and Technical consultancy organization of Tamilnadu
(ITCOT) was established in the year

sODBTH euTsss wHNiID Agmilan 1 Gargaar Himeuarnd QT _misLiLL L e

141.

(A) 1956
(C) 1955

(E) Answer not known

ellenL Qgflwalerenaw

) 1979
(D) 1972

Match Column-I with Column-II and choose the correct code given

below.

Gg@mrﬂm&—lg Gp@mfﬂm&-ﬂ o Lan sAWS Qurmss, .ﬁ@lc.g @a;rr@ésasuul'_@dTm

udlenas Csibols[HESELD.

Column-I
QpBeuflens-1

(a) Skills
Smesar

(b) Education
gevadl

(¢) Development
auarm&s

(d) Ethics
Qpdpenmaer

@ ® (©

A 4 1
(B) 2 3
«( 3 4

1

D) 3

3
4
1
2

(d)

> DN = DN

(E) Answer not known

eflenL Qgflweldrens

Column-II

QbBHeuflens-11

Emphasis on knowledge

SMeysE Wpe&Hwsgieud SefgsHe

Practices that are prevailing in market
ghangulleh Flavald BenL_(penmaeT

Need to operate, use machines
Qupdrhsamer QuisS LweTL(hSSID Smeno
Impart theoretical knowledge
BgNTES il aupEIGED
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142. The primary function of an Entrepreneur is

@@ Qsmfladufer (psearano Qewdum®

Planning of the enterprise (B) Diversification of production
Bneuangdlen S 1ol _eb 2 puSHUI® LdbeumSILIHESSW
(C) Expansion of the enterprise (D) Marketing
fmeuansans elfleuns@sen FHMSLILIHSHISD
(E) Answer not known
aflenL Qgflweldana

143. A women Entrepreneur is one who owns and controls an enterprise
having a share capital of not less than

@ Quanr QzmdpamenGeurt eerLcUT 6TeUeUETe | (POSATSMS CaTeaTL.  (H
Hmeuargens eneusE(mHLILIGUT HmILD 5L®u?umﬁ
)

(A) 49% 51%
(C) 60% (D) 90%
(E) Answer not known

elenL. Qs Mlwalerena

144. The Industrial Development Bank of India was set up in

Qpdurelen Qgma euaridsl eurkidl Hlmeuin’ L
Y{;&%zl

(A) 1989
(C) 1985 (D) 1955
(E) Answer not known

slenL Qgflwelerena
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145. Which of the following are correctly paired?

QereuHeuaraupled ereneu &ifluims Qenamrasliu_(heTerg)?

1. IDBI
IDBI

2.  NABARD
NABARD

© 3. SSI

SSI

4. SIDCO
SIDCO

(A) 1,2, 3 are correct
1, 2, 3 opflwemeu &l

(C) 3,2, 1 correct
3,2,1 &M

(E) Answer not known
elen Qs flwaidenc

(B)

Industrial Development Bank of
India

@ndlureder Qgmflagienm Guowbum’ (K
VTS

National Bank for Agriculture
and Rural development

efleugmuitd LOHMID Symoliym
Cuwur’_Hssrer GCalw eumidl

Small Industries Service
Institute

Am Asmerser Caanou Hlmeuad

Small Industries development
corporation limited

fmQgmdaser oUeTT&S & SHLPGLD
QAL

2, 4, 1 incorrect
2, 4,1 saun

“f{)l, 2, 4 are correct

95

1, 2, 4 g dweneu &l
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146. Which statement is not true. About Integration of women in
development as per seventh five year plan.

gpreug ghstan® HisHlary  euattéflulder CQueansemer @\anansg &0 sTeTeUg|
unOwe 6Ths SiMGama 2 aTanLowien?

(A) Provide Assistance for marketing their products
swrfliysemer shaslILHSS 2-56NHMaT GULPMEIES560

)  Provide collateral security from bank
audluiled enemt LITGETUIMU CULDMEIEGSE

(C) Involve women in decision making process
P4 GeuBisEn Qewuduniyed Quarsamer FHUBHSSISO

(D) Treat women as specific Target Groups in all development program
aueTi&sl L misatlgd Queamsaner @MU L Q&S G(LSSETTS &(H)IS60

(E) Answer not known
ellenL AgMweleana
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147. “DWCRA is a scheme introduced by Government of India for the
encouragement of women. Enterpreneurship”.

DWCRA Means
DWCRA  aaiug Quamsear QsmfleowpaarGouneay sas@elliughars @bHw

SATETRISSSTO Siflpastiu@sstiucL S wrgn. DWCRA eeug

(A) Developing women children in Rural areas
QuaT LHMHID GLHassamer Srmoliphisaie o (Hers@GS

(B) Development of women control in Rural areas
Agmoliypriseaid Queansafier sL_HULT L CubuBSSHISH

) Development of women and children in Rural areas

gmolyprigefiéy Quamaer wHmIb Ghbanssatien suemiés

(D) Development of women and children in Regular Activities
QUL&GSLOTET BLaulg Sanssafld QuaTgeT whmib @Gwhamssamar GubLIHSSIS®

(E) Answer not known
aflenL QgMwelcrena

148. Which among the following is not a Quality of entrepreneur?
Yeeu(peuateup e gy Gsma wpenarCeurtlen Sy jeda?
(A) Self confidence (B) Ability to for foresee future
genaTbll&ens afigrasmsg (penarhelsa@n SHmer
(C) Ability to Take Decisions @rlntolerance during uncertainty
(Pl 6EaT T(HEGW Hme gdlliys senanwHm Hlanaw

(E) Answer not known
eflenL Qgflwelerena
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149. Compulsory registration of shops - and establishments comes under
gsan_geT oHmb Blyeiamhisaier sl Lmul udley erger S eumleamg ?
(A) Industrial Disputes Act
Qzmflé sasrTm &L ID
(B) Minimum wages Act
GODHSLILE 2a18l FL_L_ID
(C) Employees Provident fund Act
uanflwmert euprisTe eneuliL Bl sardlwib
Shops and establishment Act
S@LEGET DO Hlmieuer sL-L LD

(E) Answer not known
eflen Qg flweldane
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150. Choose the right matches.
sflurer QummSSBIGamer CsTey GFUILIALD.

1)

2)

(3

(4)

(A)

(©)

(E)

The factories Act — 1948
Qzmiherenesar L L_Lb

The Industrial Act — 1947
Qzmflergienm gL b

The minimum wages Act - 19561

GoPbsULE 2ardl LD
The shops and Establishment Act — 1958

SEL&ET (DHMILD HlmicuemiigeT FUL_Lb

(3) and (4) are correct ml) and (2) are correct
(3) womw (4) sfwnemena (1) wpmw (2) sNwrearee
(2) and (3) are correct (D) (2) and (4) are correct
(2) vpmyw (3) sfwrereneu (2) wpmw (4) sflwrereeu

Answer not known
eflenL Qg flwaelerenay
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151. Factors affecting pricing of any establishment are
@m Hipeuasden ellena wHIT e LIME&ssEamiq W STrat&eT Wirameu?

(1) Location
Blmeuangdlen @) mLidLLb
(i) Size
osaniflan oy
(ii1) Likes and dislikes of customers
misTCeunigeafien efl@mLiuib whmib 64 mLiLidemamin
(iv) Purchasing power of customers
p&rGeunisatien eurmi@d Slmenr

(A) (@) and (iv) ’ (B) (i) and (iii)
(i) wppid (V) (if) wppid (i)
(C) (@) and (i1) 6 (1), (i), (iil) and (iv)
() whgid (1) (®), (11), (ii) wpmywd (iv)
(E) Answer not known
clenL QgRwaldena
152. is not a fixed costs

@ da eraneu flane SiLGsellanaveni EMTHSS iea?

(A) Rents (B) Rates
G55MES Q5Tens aigb
'6 Fuel (D) Insurance
erfl@uim(merr LN

(E) Answer not known
eflen Qs Rwafdrene
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153. Assertion [A]

spm [A]

Reason [R]

sryewtid [R]

Pricing is determining of what to charge the customer
for food items, menus and services.

s ameylt  Qummlaser, oeawme|l Uliqud, CrmeusEnss
aumgGasWTeTiLb  eeiier  SLLewd  eu@Edlss CeuarmhHid
cramuieng eflane FliarTulsSmg).

Pricing methods in catering is always formal or
informal.

Cali Mg elena pepmaer rliCUMgID (WPEDWTEIME! SOV
(PEODET.

(A) Assertion is wrong, Reason is correct.
FaDm SEUMI, DETTE STTGRTLD &l

(B) Both Assertion and Reason are wrong.
Sa.HM) STTERTD @)\ TarT(h Seum

(C) Assertion is true Reason is wrong.
O Ff STreRTd Seum)

% Assertion is true and Reason is true. Reason is the correct
explanation for assertion
&pmb #fl srrenrpd &M, Mmpmsster e eNeTéED STTERTLD 2y ELD

(E) Answer not known
elen Qs flweldene
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154. Choose the right matches among type.

sflurs QummbHw Gaaranws Corey CFwis.

(1) Intangible tools of management — Personality trust and experience

Si(Heuomar Gerarrents &(medlsar 2(@HENLD BOLNGEES LOHMILD HELIGULD
(2) Organisational chart — Shows the structure of an
organisation
QLG TLIGHT GUENFLIL LD 2 ma|ulyflanenwisd sT_(HEng
(3) dJob specification — Not used for selection of right
employees
Geuanev efleurs @iy s@dwurer  Goumawnlsmer eTH&Es
) | " 2 sayeudlerene
(4) Tangible tools of management — Self confidence, knowledge

2 miflumer Goanemento &medlser

\() (1) and (2) are correct
(1) vomw (2) sfwnaremeu

(C) (2) and (3) are correct
(2) vogyw (3) sNwreeeu

(E) Answer not known
ellen Qg flweldane

Home Science

gananbliléans HMID i Hley
(B) (1) and (3) are correct
(1) womd (3) sNwrarene

(D) (3) and (4) are correct
(3) wHyw (4) sNwrereneu
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155. Write in correct Sequence

gflurer euflengulley er(pseyd

(i) Planning
L TG T

(i) Feedback
Aemanm b

(111) Managing
Guarareno

(iv) Organising
QLGOS T

4) (@), @), (i), @v)

(C) (1), (iv), (1), ()

(E) Answer not known
eflen Qs flweidene

(B) (v), (i), (1), (1)

(), ), (i), (i)

103
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156. Assertion [A] : Recruitment is a positive process whereas selection is
a negative process.

gapm [A] D ol Gemiy Criwepwrer Qsweapapungd, e GCsiey
ardlifoanpwimer Qe nITELD.

Reason [R] :  Recruitment encourages employees to apply and
selection involves rejection of unsuitable candidates.

smyewrd [R] D Ll Cariiy  uemflunetisenar  cllawanrlidss oad@elsSng),
geame  Gsiey wep  Qummsswnm  Ceulumeriganer
Blyrafadlng.
(A) [A]is true, [R] is the correct explanation of [A]
[A] e awenwo, [R] ispsner sfwnen efarésin
(B) [A]is False, [R] 1s partially true
[A] e amerwpps), [R] oishsrer grarey sfwrer eferésib
) Both [A] and [R] are false
[A] womd [R] @ran@n seuprens;
(D) [A] is True, [R] is not the correct explanation of [A]

[A] e amepownar sapmy [R] wisharer sfwrear elatésnd wide

(E) Answer not known
ellen Qs flweldene

157. Identify the incorrect method used for job evaluation.

Gauemer wHSligen Corréssdnsrsls vwaUBSSULRDL  SeupTar  (PEDHEWE

ST Mlwie| L.

(A) Ranking method (B) Classification method
sreufleng penm cuaSLILIT(H (LPEOM

(C) Factor comparison method ‘(ﬁrCorrelation method
sryenil @USLH perm Qi (penm

(E) Answer not known
ellen s flweldrena
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158. Match the deficiency with nutrients

159.

GnUTHEMmeT 2ar L6586 QuUM(hSg)s.

Deficiency Nutrients
Genur(h oar_ |_5555)
(a) Spooning of nails 1. Riboflavin
Bamisate Gl ghu@eug) ACUIMeL1Gereller
(b) Glossitis 2. Iron
B1éE SApHH QIGIIRE
(¢c) Goitre 3. Vitamin C
(PG H(PEHS HLPEM@ eau_Lfler C
(d) dJoint swelling 4. lodine
@L@ Gi&&LD . él@u_l.ﬂ'l.q_@'ﬂ

@ ® © @
6 2 1 4 38
B) 3 4 2 1
©C) 4 2 3 1
(D) 1 3 2 4
(E) Answer not known
cllenL Qs flweildene

Decreased taste sensitivity in old age is due to the deficiency of
mineral.

WHCWTTESE FHUGLD B PEIGISES ThHS S8l 2-L196 GDUT(H STTERTD GO

v Zinc (B) Copper

815SHMSLD Q&b
(C) Magnesium (D) Iron
&G WD B\(mLLF §55

(E) Answer not known
eflen Qs flweildene
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160. Choose the element that is not a free radical.

@leunmled e1g) o uLiff Crrig H&6E Sivev?

(A) Super oxide (B) Hydroxyl
GUUT Y SmFH amam_gréHled
) Nitroxide (D) Peroxide
MBLITEDIF(H Quprsena ()

(E) Answer not known
elenL Qg Muwiafdranaw

161. The prosthetic group present in rhodopsin is

GrrLmiflefler 2 drer Qewbengs @(p eTeLIg wimg)?

\ﬁr Opsin (B) Retinine
unfeneulls L|jSeuens Qrligenenen

(C) Myosin (D) Rods
SEEBMTLI LFSLD GGV [ 6T &0 (H&HET

(E) Answer not known
allenL QgfRweNerenew
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162. Match the foods and the nutrients present
2 anre |1 QUmmLGener oar’ I &868L6m QLIMHSS6 L.

(a) Meat 1. Iron
Qapsé By

(b) Dates 2. Cholesterol
Cuf&sbupd QsreavL_[Fmed

(c) Egg 3. Calcium
e STOAWID

(d) Ragi 4. Phosphorous
gl LITEVLITEL

@ ® © (@@
4 1 2 3
® 2 4 1 3
© 3 4 1 2
M1 3 2 4

(E) Answer not known
elenL Qgflwelerenaw

163. Tetany syndrome occurs due to the low level of Serum

%f\qm Bfled ———— yeme GapbsTd @rat senafl CETUGSTMS 2 @TL M@0,
Calcium (B) Iron

FERTETTIDL| FSHF| @\(HYUEF 558
(C) Phosphorous (D) Magnesium

LI LITER) O&eTEWD

(E) Answer not known
sl Qgfwelerena
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164. Match the vitamins
aneul_L Lflensaner Qum(mE g
(a) Thiamin
wimdlen
(b) Riboflavin
(1 [ET, AT (€45 (P
(¢) Niacin
Bluimdl e
(d) Pantothenic acid
urenGLmgeafls sidled

@ b (© @
A) 4 3 1 2
B) 3 2 1 4
C) 4 1 2 3
(D) 2 4 3 1
(E) Answer not known
slenL Qg flweldena
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B3
493
B5
95
B2
Q2
B1
Q1
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165. Arrange the following vegetables in descending order according to
carotene content (mcg) of foods :

o amaysaflan &Crmiyer (meg) odan ss5SDE gHu  Gemteumbd 2 ameasmar
Guelimpgl Sprs sfluing euflensiLiBSSaLb.

(1)  Drumstick leaves

WPHEIDS Seny
(i) Agathi

858 Sy
(111) Cabbage

L Csmav

(iv) Spinach
LISENEY &6n(T

(v) Fenugreek leaves

Qeupsw Senry
(A) @), (i), (i), (v), () ?{ﬁ), (iv), (i1), (v), (i11)
©  ®, @), (1), (v), (v) (D) @), (v, (id), (v), Gi)
(E) Answer not known

el Qgflweldena

166. Angular stomatitis and cheilitis are due to the deficiency of

GePOUML_Igarmed eumiiLjewt wHmiD 2 SO eIy 2 @rLm@Lb.

(A) Thiamine v Riboflavin
swiLblem R AR [E s

(C) Pyridoxine (D) Cyanocobalamine
eouflr&Ser s wGannCamumeenLnas

(E) Answer not known
eflen QgMwaldvane
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167. pB-Carotene is an important nutritional weapon in fighting against

Q-sCrmiigen —&@ eadims Cumiieudledr @@ wWsSlwwrer e’ §858)
QUBOTE QOSSN
(A) Cataracts mardio-vascular diseases
ST @maw Grmu
(C) Renal Diseases (D) Liver Diseases
smBre Crmu &aedred Grm

(E) Answer not known
elen Qs Mlwelcrene

168. The mineral found in the coenzyme of NADP and FAD is
eTetnerig 19 LOHMID 6Ts o167 Ig U6t G&nae&rm&@?uu@m saflib

(A) Calcium ) Phosphorous
sro&wib UreLLITEL

(C) Iron (D) Zinc
QoY BISSHNSLD

(E) Answer not known
adlenL. Qg flweldenay

169. Choose the correct ratio of Calcium and Phosphorous
asre@dwb wHmid ursvureder elflssms efluns CambOs[HESE6WD.
A) 1:1 B) 2:2

o 1:2 D) 3:1

(E) Answer not known
alenL Qg flweldana
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170. Cobalamins is referred to as

(A)

©

(E)

Carumelenger eram @GOIUAC LB ng.

Vitamin B, (B) Vitamin Bs
et L Ber B1 aaul_L10lar Bg
Vitamin Br mnamin B
eaul_L_Oer B7 aaul_LBles Bio

Answer not known
efen Qs flefdana

171. Which of the following vitamin deficiency causes pernicious anemia?

Epsam_aupile eps o ulidess Gopur® Quileifluey EGrss Cerasaw

THUOSSEDS.

Vit Bie (B) Vit Bs

o Witegg Bi2 2 Wiiegg Be
(C) Vit Bg (D) Vit By

2 Witssg Be o Wiesg B1
(E) Answer not known

172. The organ where activation of Calcitriol takes place in

e Qgflweleena

&TOELrred QeugEsn ——— — 2 minle panCunSlnsg.

(A) Skin (B) Liver
Cgme &SEE0T6L

(C) Spleen ‘Qf)(Kidney
DGRt e AnBrsd

(E) Answer not known

eflen Qg flwaicrency
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173. The daily intake of dietary fiber should be for an adult.
@ euwg eups walsaflern farefl 2 L Qamerar Gouaig wi Bridssdlen iatey
(A) 15g (B) 20 g

& 25 (D) 27¢

(E) Answer not known
eflenL Qg flweldena

174. End product of digestion of fat is
Qampuiy Qefigsallen iy eila fan_&Eb Qummer

(A) 'Triglycerides ' (B) Bile Salts
QamipliLy Sl mIgeT Wssbm o L1y
¥ Chylomicrons (D) Micelles
&aedre Gampliy miar Qamuplit Qummer

(E) Answer not known
sllenL Qg flweldena
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175. Expect one, other statements hold true (with regard to the) occurrence of
PEM in India.

@pdHureler yrss 55 @GopGrTU ghuBeug QFTLIUNE @eatadns $lF LOHD
SN SMEEHET 2_RTENLOWITE B)(HEHS T .

(A)

(B)

(©)

In India infants are breast fed upto 12-18 months.
@udureiley  GuhmssErsE — 12-18 wismsdT  eueny  SMUILILITED
Qar@ssuudnsg

Malnutrition sets only during weaning due to delayed introduction
of complementary feeding.

sar’ L & §58 GepurLrang uril @b Gurg Blyliy Scuasmg STLSWLTE
SNpsLLBSFeusTed HUBH DS

The complementary foods are usually a part of adult diet and is
based only on cereals.

Birliy 2 emeyser Qurgeuns euwg eubCsmmesTan o ameilen g LIGH W m@GLD
wHmb graflumiamar g liLienLwrs CsmeaTLg)

@( Diet is predominantly deficit in calories and proteins.

(E)

2 amradled (geranowins &GmlgEeT wHYD YIS uHmTsEGem

Answer not known
alenL Qgflweildena
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176. Assertion [A] : The most important essential fatty acids (EFA) is
linoleic acid.

gapm [A] 1 s wsdwwren ssHurcudlusg Qampiiy Silen SCarmalls
SOl Y& L.
Reason [R] : Not all poly unsaturated fatty acids are essential

fatty acids.

smyentd [R] D ooagg Ut emendsGriLl Qamupuy  BleBSEHD
SgHwmeudlu QampLil] SOleRBISET Bjce.

(A) [A] 1s True, but [R] is False

[A] eft-gyammed [R] seumy
‘({ Both [A] and [R] are True

[A] wppis [R] @rein@io o

(C) [A] is False, [R] is True
[A] soup. [R] &

(D) Both [A] and [R] are False
[A] wpgi> [R] @ranGid seup

(E) Answer not known
eflenL Qs Mwafcrana

177. The Amino acid which has sulphur in i1t?
&bEEHD CareamBiarer HACeT lleid 6rg)?

(A) Proline (B) Glycine
LCymeSler Generélen
Cystine (D) Lysine
Slaven Lot ane&leor

(E) Answer not known
alen Qs flweldena
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178.

179.

180.

Each gram of protein yields kilo calories.

R yrb yrssesg) eaeaelatey HGar sGamflsamer oiafadng.

A 3 ) 4
<G 9 D) 11
(E) Answer not known

cflenL Qs flweildrene

Amylose and Amylopectin molecules are components of

SmwCoray  LHYL  HOLEOTAUSYET  PLEFMSMET

2GLD.
) Starch " (B) Sucrose
GLL & &&Grmen
(C) Glycogen (D) Cellulose
SlenerGarGlger QeoayGeomeiv

(E) Answer not known
eflen Qs flweiidvena

is the good source of Linoleic Acid.

SpaumeuaneudBled erg NGarmalls 2idlogdlen fmpbs epeLomEid?

Soyabean (B) Butter

GemumSen Qeuar@ewrl
(C) Beef Fat (D) Shell Fish

g enndsl Qamupliny Qaged e

(E) Answer not known
eflen Qg Mwelidana
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181. The organ which is called the glucostat of the body
Gerreumd 2 mitiysefied 6t 2 L ale G @Eh&CaTavLTL cTenmm enpssLBhEng?

(A) Thymus

&(pSG HENERTIILD

(C) Pancreas
&HEHEITUILD

(E) Answer not known
sflenL Qgflweféranav

Liver
HEE0F6L

(D) Kidney

AnBraid

182. If a food provides 600 kcal and the calorie from protein is 15%, how
much gram of protein does the food provide?

@m 2aa| 600 fCar sCarflaamer LrssHambg 15 ss6isn &Gl cuprigoruier,
2 awredlah ergganar Sgmb Lrsb o Qg merer Couarr(Hitd?

(A) 32.2gm

(C) 40gm

(E) Answer not known
edenL Qs flweferenay

) 22.5 gm
(D) 35 gm

183. Which one among the following does not contain fat?

Yetreumeuareum ey QasmipliL) @onsg) eTg)?
(B) Cheese

(A) Meat
@enas

(C) Khoa
Gameur

(E) Answer not known
allenL Qgflwafcrenaw
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184. Organic products in India is certified by
@ipdureiler gy israfls Qummsamar sranpels@n glevm erg)?

(A) FAO (B) FSSAI
FAO FSSAI
) APEDA (D) Codex Alimentarius
APEDA GarQLgen oe9QwerCLfwen

(E) Answer not known
aflenL Qg flwiafdana

185. Volume of air in porous food products is referred as

pamanilu 2_are s QurmLsafld srpiler oere ereueurmy @MU LILHEDE.

(A) Specific volume ) Bulk volume
GO L QsmEd Qs oemey

(C) Index volume (D) Density volume
GUNCRET F DAL TEE Haray

(E) Answer not known
elen Qg flwafcrane
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186. Assertion [A]

spm [A]

Reason [R]

smyewtd [R]

Mixed acid fermentation is also called formic acid
fermentation.
sl Sifle Aprdssme .uriils e ABTHss eare|b
SeP&SLILI(Heu.
It is carried out by members of the family

enterobacteriaceae and is so named because of the
mixture of end products that are formed.

Qg eear Cpr unseflurdl Ghousder Hmll eumswimed
o (HeurSlmg).

(A) [A]is true, [R] is false
[A] eremugy &, [R] eremuig) seum

(B) Both [A] and [R] are true and [R] is the correct explanation for [A]
[A] womw [R] e, [R] erarugy [A]eQen sflwnen elarésid <, @td
(C) [A] is false, but [R] is true
[A] erenuig) seumy, [R] eramuig) ef
) Both [A] and [R] are true, but [R] is not the correct explanation

for [A]

[A] womid [R] &M, [R] [A] efen sflwnen eflarésnd sidew

(E) Answer not known
ellen. Qs flweldene
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187. The Phenyl ketonuria is due to the mutation in the enzyme which
converts phenyl alanine to tyrosine. The enzyme is

coliemare  ECLmgmlur  sRHoTONSSTE®  FHUGL  GOOUTLAGD. o oSaared

Svamaraenar el Grrengarms sBwrmmbd Qewibd Qprdufer Quwi ererer?

(A) Phenylalaminase (B) Phenyl alanine tyrosinase
W enaremblGastan Wenasted evenanen enL_CrrdlCamei

‘{ Phenyl alanine hydroxylase (D) Phenyl alanine oxidase

solinaney Seweamaner manl r&HGoa  JSmare siwmanar 2y &HGLav

(E) Answer not known
elen Qs flweldrene

188. Keep out microorganism is called as

2 awreiled miamamiudfseT LSTeuaTanRTLD LIMgISTSSED Teuaumm?

(A) Filtration (B) Blanching
ey HL(HEed Bfler Qardés meussiv(Heug
‘6 Asepsis (D) Antioxidant
Sm ungismiy S saflsrasans Shsse

(E) Answer not known
eflenL Qgflweldena
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189. Choose the wrong matches, which of the following are incorrect pair.
gaprar  Qummsshsmas CsibOs®Bssan. Geaeumaiameupdle g SuDTS

G enartasUL_(heTaTg).
Poultry Age
Camygl QWG|
1. Broiler or Fryer — 8to 10 weeks
QFTIeT DG o L1 TwIT 8 - 10 cungrugar
2. Rooster — Under 10 months of age
Geoud 10 wrshisEREE SK
3. Stag —  3-5 months of age
VL& i 3 (P& D OMFEIGET .
4, Stewing chicken of fowl = — More than 10 months of age
av@Geilni/ sam_e Camll/Camp 10 wrghisEpsE@ Guoe
(A) land3
1 wogb 3
(B) 1land4
1 wpmid 4
(C) 3and4
3 woHmid 4
) 2and3
2 pyw 3

(E) Answer not known
eflen Qs Mweferene
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190. Assertion (A) : Cooking of meat increases its tenderness.

gapm (A) D Qenédlerw salILgeEn apabd Digear Qe S sfsing).

Reason (R) :  Cooking melts the fat and dissolves the collagen into

soluble gelatin.

smyewrd (R) . sopUugl CQesmplienus sofsg, s@Tusmigwu Qe e,

(A)

N’

©

D)

(E)

Qarormamans smr&Hng|.

(A) is true, (R) is false

(A) af, (R) souny

Both (A) and (R) are true and (R) is the correct explanation for (A)
(A) vpmid (R) e, (R) (A)elen sflwimen efleméaid <@

(A) is false and (R) 1s true .

(A) sauy. (R) o

Both (A) and (R) are true but (R) is not the correct explanation
for (A)

(A) vpgw (R) &M, (R) (A) eler sfwnen elargsind e

Answer not known
sllenL Qg flweldena
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191. Assertion (A) : High Fructose corn syrup is superior to sugar.

gapm (A) . ofls serelorar GWrsGLrey ariear Syl sissamrerw el
&g ApbHISE!.
Reason (R) : At a given concentration, its osmotic pressure 1is

twice that of sucrose.
sryewd (R) : Qer@ssiulL Qedefley, oigenm geuay(HLIeU®D (PSSO
&&Grrenev el @ 7err(H L kiE HFHSLD.
(A) (A)is true, but (R) is false
(A) e_ameno syemed (R) Quimds
) Both (A) and (R) are true and (R) is the correct explanation of (A)

“(A) vpg (R) @ranr@ow earemw wongw (R) eaawg (A) @er sflwmer”
eleréaLd

(C) (A)isfalse, (R) is true
(A) Qumis syemmed (R) e aireno

(D) Both (A) and (R) are true, but (R) is not the correct explanation
of (A)
(A) v R) @Qranhun o araw <gpame (R) eeaug (A) @er sflwmen
NETEHHLD O

(E) Answer not known
ellen Qg flwaldane

192. A semi soft cheese obtained by bacterial ripening is

urdlwere Guwerewwrer Fov urseflur eriuain (wapwWed Qeuwliu@eeas

ereueumm GOLIAHCeumbd.
Limburger (B) Blue veined cheese
 eOlbus Ligarh, eneuudlent_ &av
(C) Swiss (D) Camembert
avedlen F: AL ANT]

(E) Answer not known
elenL Qg flwelana

Home Science 122



193. “Marbling”- is a phenomenon observed in

wrileln eramm Hlspe| aThF 2 areysaiies penlGumyLb.

Meat (B) Vegetables
g STWUSOISET

(C) Green Leaves (D) Milk products
ST UENSSET uimed QuimmL_geir

(E) Answer not known
elenL Qs flwefdane
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194. Match the following elements in Column - A with Column - B that is best
related.

QApheuflens - ‘A’ Qe 2 drer Qaeumbd smsaer ApHeufens - ‘B’ o Ler Qurmssed

Column - A Column - B

QpBeauflens - A Qp(Heufens — B
(a) Beetroot 1. Allin

LSt oL sidadlen
(b) Cabbage 2. Saponins

WL &CaEme sCuneafleanger
(¢) Garlic 3. Betacyanins

- LLeRT(h) ’ SU_L_rewneflenaar

(d) Soyabeans 4. Sinigrin

Gamwm Seev Saf Sl fen

@ ® @© (@
Aa 4 1 3 2

B 3 1 2 4
w3 4 1 2
M1 2 3 4

(E) Answer not known

edlen Asflweferene
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195. Which of the following statements is true regarding the type of cottage
cheese?

ar_GLs) v updl emeumeuameundlad erg) &Ml ?
(1) Hard type cheese coagulated with s.thermophilus

SlgaToTer 2 @mnHhs Fav euans S- QsTGLTELIME 2 DS CFliuiiul L g
(2) Soft cheese coagulated with s. shermanii

B mpgleuren &av S.QgmoraNwTd® 2 apsa Cantiu’ L g
(3) Hard cheese coagulated with L. bulgaricus

suamorar v L. udsrflevrd 2 apgad Qawnuiuid g
(4) Soft cheese coagulated with s. lactis

WBl(pgIeumen &6 S. ORGLGV D46 2 DI L |

(A) (1) is true. (2), (3) and (4) are false.
1,8M,2, 3.4 s60um

(B) (2) is true. (1), (3) and (4) are false.
28, 1,3, 4, seum

(C) (3) is true. (1), (2) and (4) are false.
&, 1,2, 4 seum

@ (4)is true. (1), @) and (3) are false.
48M, 1,2, 3, seum

(E) Answer not known
afer Qg Mweiidenay
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196. Resveratrol is found in

QrevQeugm_Grme
(A) Almonds
LITSTLD

(C) Garden cress seeds
3|6l ellangser

(E) Answer not known
eflen Qs flwelcrena

& sraTiiLhSng).

(B) Flax seed
<6fl clengser

%{)Groundnuts

HlessL_ane

197. Which food reduces both total and LDL cholesterol? .
e 2-ara] Qg Garliy wHmib GaL Qampliy @rareLub G@nsEng?

(A) Aniseeds
Gembyy

(C) Garden cress seeds
CarlL&smby elleng

(E) Answer not known
elen Qs Mwelerana

(B) Cumin seeds
&8 eflang

‘(ﬂ)’i’lax seeds

< afl dlengser

198. The combination of cooking method using both moist and dry heat is

called as

FFILTET WHNI 2 @ihs Qeuliu (Wpensmer Sobg LIWETUHSEID Famidwiane Gleieumm)

SmIeuT

Braising
Geusanauggen

(C) Pan roasting

LITET QUM 6Ua

(E) Answer not known
eflenL Qg flweferene
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(B) Broiling
QpmLde aurl(Hge

(D) Baking
Si(HLoen et
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199. Amino acids can be classified into
SBCarT flerigeT @eueumn euamasliL(hSsLILIL (HeaTeTg)
MAromatic, aliphatic, acidic, basic and sulphur containing
Boioeant, HelGLigs, Sble, &TT wHMID SHSSD Hleanbs
(B) Only aromatic and aliphatic
BoiesT wHNID Se8lGLIYs L (Hb
(C) Only acidic and basic
SiBld HMID &TFLD WL (Hb
(D) Aromatic and sulphur containing
BOILOTD LHYID SHSED BleHs
(E) ° Answer not known
ellen Qs flwelerena

200. Parasitic roundworm present in the pork produces a disease called

@l Qaraflwurer eul Lty Curidle (ueard sflude) QmEED, gl abs elurdear

2 (Heun&EGS g
Trichinosis (B) Ascariasis
gy Ganmeien <sievsmilwmreien

(C) Trachea (D) Brochchus (Cirrhosis)
4 y&Ewm Lgrisev (HirGrmeliav)

(E) Answer not known
een Qg flweiidrane
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